UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

	X	
In re	:	Chapter 11
ADVANTA CORP., et al.,	: :	Case No. 09-13931 (KJC)
Debtors. 1	: :	(Jointly Administered)
	: :	Objection Deadline: 2/17/10 at 4:00 p.m. (ET)
	Y	

FIRST MONTHLY APPLICATION OF RICHARDS, LAYTON & FINGER, P.A. FOR ALLOWANCE OF COMPENSATION FOR SERVICES RENDERED AND FOR REIMBURSEMENT OF EXPENSES AS CO-COUNSEL TO THE DEBTORS AND DEBTORS-IN-POSSESSION FOR THE PERIOD FROM NOVEMBER 8, 2009 THROUGH DECEMBER 31, 2009

Name of Applicant:	Richards, Layton & Finger, P.A.
Authorized to Provide Professional Services to:	the above-captioned debtors and debtors-in- possession
Date of Retention:	December 3, 2009, nunc pro tunc to November 8, 2009
Period for which compensation and reimbursement are sought:	November 8, 2009 through December 31, 2009
Amount of Compensation sought as actual, reasonable, and necessary:	\$78.218.40 (80% of \$97.773.00)
Amount of Expense Reimbursement sought as actual, reasonable, and necessary:	\$11.758.14

The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are Advanta Corp. (2070), Advanta Investment Corp. (5627), Advanta Business Services Holding Corp. (4047), Advanta Business Services Corp. (3786), Advanta Shared Services Corp. (7074), Advanta Service Corp. (5625), Advanta Advertising Inc. (0186), Advantanis Corp. (2355), Advanta Mortgage Holding Company (5221), Advanta Auto Finance Corporation (6077), Advanta Mortgage Corp. USA (2654), Advanta Finance Corp. (8991), Advanta Ventures Inc. (5127), BizEquity Corp. (8960), Ideablob Corp. (0726), Advanta Credit Card Receivables Corp. (7955), Great Expectations International Inc. (0440), Great Expectations Franchise Corp. (3326), and Great Expectations Management Corp. (3328). Each of the Debtors (other than Advanta Credit Card Receivables Corp. and the Great Expectations entities) maintains its principal corporate office at Welsh & McKean Roads, P.O. Box 844, Spring House, Pennsylvania 19477-0844. Advanta Credit Card Receivables Corp. maintains its principal corporate office at 2215 B. Renaissance Drive, Suite 5. Las Vegas, NV 89119, and the Great Expectations entities maintain their principal corporate office at 1209 Orange Street, Wilmington, Delaware 19801.

This	is	a(n):	<u>X</u>	monthly	 interim	 final	application	1

Prior Applications Filed:

Date Filed	Period Covered	Fees	Expenses
1/28/10	11/8/09 - 12/31/09	\$97,773.00	\$11,758.14

COMPENSATION BY PROFESSIONAL NOVEMBER 8, 2009 THROUGH DECEMBER 31, 2009

Name of Professional Individual	Position, year assumed position, prior relevant experience, year of obtaining relevant license to practice	Hourly Billing Rate (including changes)	Total Hours Billed	Total Compensation
Donald A. Bussard	Joined firm as associate in 1976. Director in 1981. Member of DE Bar since 1976.	\$700	2.0	\$1,400.00
Mark D. Collins	Joined firm as associate in 1993. Director in 1998. Member of DE Bar since 1991.	\$675	11.5	\$7,762.50
Russell Silberglied	Joined firm as associate in 1995. Director in 2002. Member of PA and DE Bars since 1996.	\$600	1.5	\$900.00
Paul N. Heath	Joined firm as associate in 1999. Director in 2007. Member of DE Bar since 1998.	\$525	54.9	\$28,822.50
Chun I. Jang	Joined firm as associate in 2005. Member of DE Bar since 2006.	\$300	71.4	\$21,420.00
Michael W. Romanczuk	Joined firm as associate in 2004. Member of DE Bar since 2005.	\$280	0.4	\$112.00
Lee E. Kaufman	Joined firm as associate in 2006. Member of DE Bar since 2006.	\$275	0.4	\$110.00
L. Katherine Good	Joined firm as associate in 2007. Member of PA Bar since 2007. Member of DE Bar since 2008.	\$275	0.1	\$27.50
Tiffany N. Piland	Joined firm as associate in 2007. Member of DE Bar since 2007.	\$275	6.2	\$1,705.00
Zachary I. Shapiro	Joined firm as associate in 2007. Member of DE Bar since 2008.	\$245	52.8	\$12,936.00
Andrew C. Irgens	Joined firm as associate in 2008. Member of DE Bar Since 2009.	\$230	1.8	\$414.00

Name of Professional Individual	Position, year assumed position, prior relevant experience, year of obtaining relevant license to practice	Hourly Billing Rate (including changes)	Total Hours Billed	Total Compensation
Julie A. Finocchiaro	Joined firm as associate in 2009. Member of DE Bar since 2009.	\$230	21.8	\$5,014.00
Aja E. McDowell	Paralegal since 2003. Joined firm in 2002.	\$195	0.6	\$117.00
Ann Jerominski	Paralegal since 1995. Joined firm in 2000.	\$195	1.1	\$214.50
Barbara J. Witters	Paralegal since 2000. Joined firm in 2000.	\$195	4.5	\$877.50
Cathy M. Greer	Paralegal since 1995. Joined firm in 2000.	\$195	2.5	\$487.50
Rebecca V. Speaker	Paralegal since 2002. Joined firm in 2001.	\$195	0.4	\$78.00
Jamie E. Schairer	Paralegal since 2009. Joined firm in 2009.	\$195	67.3	\$13,123.50
Janel Gates	Paralegal since 2007. Joined firm in 2007.	\$195	1.6	\$312.00
Tracy A. Cameron	Paralegal since 2005. Joined firm in 1992.	\$195	6.7	\$1,306.50
Marisa C. DeCarli	Paralegal since 2009. Joined firm in 2009.	\$195	1.0	\$195
Brenda D. Tobin	Case Management Assistant.	\$100	4.2	\$420.00
Rochelle I. Warren	Case Management Assistant.	\$90	0.2	\$18.00
TOTAL			314.9	\$97,773.00

Grand Total

\$97,773.00

Attorney Compensation

\$80,598.50

Total Attorney Hours

224.8

Blended Rate

\$358.53

Dated: January 28, 2010 Wilmington, Delaware

COMPENSATION BY PROJECT CATEGORY NOVEMBER 8, 2009 THROUGH DECEMBER 31, 2009

Project Category	Total Hours	Total Fees
Case Administration (A)	33.9	\$9,714.50
Creditor Inquiries (B)	2.7	\$690.00
Meetings (C)	26.2	\$8,049.00
Executory Contracts/Unexpired Leases (D)	15.5	\$4,817.50
Automatic Stay/Adequate Protection (E)	0.2	\$105.00
Plan of Re-Organization/Disclosure Statement (F)	0.0	\$0.00
Use, Sale, Lease of Assets (G)	6.2	\$1,762.50
Cash Collateral/DIP Financing (H)	0.0	\$0.00
Claims Administration (I)	1.5	\$742.50
Court Hearings (J)	120.8	\$37,271.00
General Corporate/Real Estate (K)	10.8	\$4,575.00
Schedules/SOFA/U.S. Trustee Reports (L)	28.8	\$10,271.00
Employee Issues (M)	4.6	\$1,941.00
Environmental (N)	0.0	\$0.00
Tax Issues (O)	8.0	\$2,246.00
Litigation/Adversary Proceedings (P)	0.1	\$30.00
RL&F Retention (Q-1)	16.1	\$4,446.00
Retention of Others (Q-2)	21.9	\$6,785.50
RL&F Fee Applications (R-1)	7.4	\$1,488.00
Fee Applications of Others (R-2)	4.9	\$1,336.00
Vendor/Supplies (S)	0.0	\$0.00
Non-Working Travel (T)	0.0	\$0.00
Utilities (U)	5.0	\$1,444.00
Insurance (V)	0.3	\$58.50
TOTAL	314.9	\$97,773.00

EXPENSE SUMMARY NOVEMBER 8, 2009 THROUGH DECEMBER 31, 2009

Expense Category	Service Provider (if applicable)	Total Expenses
Facsimile		\$0.00
Long Distance Telephone		\$357.01
In-House Reproduction (Duplication/Printing)	Copies - 6,251 @ \$.10/pg Printing - 2,711 @ \$.10/pg	\$896.20
Outside Reproduction	Parcels	\$1,176.96
Legal Research	Lexis/Westlaw	\$3,102.00
Filing/Court Fees	American Express	\$4,156.00
Court Reporting	Antonio's Word Processing, Inc.	\$178.25
Travel Expenses		\$0.00
Inside Courier & Expense Carriers		\$0.00
Outside Courier & Expense Carriers	Blue Marble, Fed Ex	\$90.57
Postage		\$0.00
Binding		\$40.00
Business Meals	(meal detailed attached)	\$1,013.83
Document Retrieval	Pacer	\$49.84
Record Retrieval		\$0.00
Room Rental		\$0.00
Professional Services		\$0.00
Overtime		\$697.48
TOTAL		\$11,758.14

BUSINESS MEAL DETAIL				
Date Posted	Provider	Meal & # of people	Description	Amount
11/8/2009	TGI Fridays	Dinner for 5	Filing of petition and first day motions; Preparation of binders re: same	\$121.57
11/10/2009	Rodney Grille	Lunch for 8	Preparation for first day hearing	\$117.00
11/18/2009	Gallucios	Dinner for 1	Preparation for after hours filing of Alvarez retention application and OCP motion	\$27.62
11/19/2009	Manhattan Bagel	Breakfast for 8	Preparation for initial debtor interview / formation meeting Preparation for initial debtor	\$135.00
11/19/2009	Rodney Grille	Lunch for 25	interview / formation meeting	\$410.00
11/24/2009	Rodney Grille	Lunch for 5	Preparation for first day hearing for additional Advanta entities	\$74.65
12/2/2009	Gallucios	Dinner for 1	Revising and after hours filing of certifications of counsel of second day motions.	\$17.25
12/17/2009	Rodney Grille	Beverages for 6	Prepare for and attend 341 Meeting	\$10.74
12/17/2009 TOTAL	Manhattan Bagel	Lunch for 6	Prepare for and attend 341 Meeting	\$100.00 \$1,013.83

UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

	· · · · · · · · · · · · · · · · · · ·	
	:	
In re	:	Chapter 11
	:	
ADVANTA CORP., et al.,	:	Case No. 09-13931 (KJC)
	:	
Debtors. 1	:	(Jointly Administered)
	:	
		Objection Deadline: 2/17/10 at 4:00 p.m. (ET)
dar son the law for the first test day with left with less less son two first was day now was was was son one was well done for first first day day day day day day day and was are son one was was was was was and the first	X	

FIRST MONTHLY APPLICATION OF RICHARDS, LAYTON & FINGER, P.A. FOR ALLOWANCE OF COMPENSATION FOR SERVICES RENDERED AND FOR REIMBURSEMENT OF EXPENSES AS CO-COUNSEL TO THE DEBTORS AND DEBTORS-IN-POSSESSION FOR THE PERIOD FROM NOVEMBER 8, 2009 THROUGH DECEMBER 31, 2009

Pursuant to sections 330 and 331 of title 11 of the United States Code (the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), and the *Order Pursuant to Sections 330 and 331 of the Bankruptcy Code and Bankruptcy Rule 2016 Implementing Certain Procedures for the Interim Compensation and Reimbursement of Professionals* [Docket No. 102] (the "Administrative Order"), Richards, Layton & Finger, P.A. ("RL&F") hereby files this First Monthly Application for Allowance of Compensation for Services Rendered and for Reimbursement of Expenses as Co-Counsel to the Debtors and Debtors-in-Possession for the Period From November 8, 2009 through December

The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are Advanta Corp. (2070), Advanta Investment Corp. (5627), Advanta Business Services Holding Corp. (4047), Advanta Business Services Corp. (3786), Advanta Shared Services Corp. (7074), Advanta Service Corp. (5625), Advanta Advertising Inc. (0186), Advantanis Corp. (2355), Advanta Mortgage Holding Company (5221), Advanta Auto Finance Corporation (6077), Advanta Mortgage Corp. USA (2654), Advanta Finance Corp. (8991), Advanta Ventures Inc. (5127), BizEquity Corp. (8960), Ideablob Corp. (0726), Advanta Credit Card Receivables Corp. (7955), Great Expectations International Inc. (0440), Great Expectations Franchise Corp. (3326), and Great Expectations Management Corp. (3328). Each of the Debtors (other than Advanta Credit Card Receivables Corp. and the Great Expectations entities) maintains its principal corporate office at Welsh & McKean Roads, P.O. Box 844, Spring House, Pennsylvania 19477-0844. Advanta Credit Card Receivables Corp. maintains its principal corporate office at 2215 B. Renaissance Drive, Suite 5. Las Vegas, NV 89119, and the Great Expectations entities maintain their principal corporate office at 1209 Orange Street, Wilmington, Delaware 19801.

31, 2009 (the "Application"). By this Application, RL&F seeks a monthly allowance pursuant to the Administrative Order with respect to the sums of \$97,773.00 as compensation and \$11,758.14 for reimbursement of actual and necessary expenses for a total of \$109,531.14 for the period November 8, 2009 through and including December 31, 2009 (the "Compensation Period"). In support of this Application, RL&F respectfully represents as follows:

Background

- 1. On November 8, 2009 (the "Petition Date"), the above-captioned debtors and debtors-in-possession (collectively, the "Debtors") filed voluntary petitions for relief under chapter 11 of the Bankruptcy Code.
- 2. RL&F was retained effective as of the Petition Date by this Court's Order dated December 3, 2009 (the "Retention Order"). The Retention Order authorized RL&F to be compensated on an hourly basis and to be reimbursed for actual and necessary out-of-pocket expenses.

Compensation Paid and Its Source

- 3. All services for which compensation is requested by RL&F were performed for or on behalf of the Debtors.
- 4. Except to the extent of the retainer paid to RL&F as described in the application seeking approval of RL&F's employment by the Debtors during the period covered by this Application, RL&F has received no payment and no promises for payment from any source for services rendered or to be rendered in any capacity whatsoever in connection with the matters covered by this Application. There is no agreement or understanding between RL&F and any other person other than the directors of RL&F for the sharing of compensation to be received for services rendered in these cases.

Fee Statements

5. The fee statement for the Compensation Period is attached hereto as Exhibit A. This statement contains daily time logs describing the time spent by each attorney and paraprofessional for this period. To the best of RL&F's knowledge, this Application complies with sections 330 and 331 of the Bankruptcy Code, the Federal Rules of Bankruptcy Procedure, the Guidelines adopted by the Office of the United States Trustee, Del. Bankr. L.R. 2016-2, and the Administrative Order.

Actual and Necessary Expenses

- 6. A summary of actual and necessary expenses and daily logs of expenses incurred by RL&F during the Compensation Period is attached hereto as <u>Exhibit B</u>. RL&F charges all of its bankruptcy clients \$0.10 per page for photocopying expenses and \$0.10 per page for printing jobs of ten pages or larger. RL&F also charges all of its clients \$0.25 per page for out-going facsimile transmissions. Actual long-distance carrier charges for outgoing facsimile transmissions are reflected in the long-distance telephone charges.
- 7. Regarding providers of on-line legal research (e.g., LEXIS and WESTLAW), RL&F charges all of its clients the standard usage rates these providers charge, which, due to contractual flat fees, may not always equal RL&F's actual cost. RL&F currently is under contract to pay these providers a flat fee every month. Charging its clients the on-line providers' standard usage rates allows RL&F to cover adequately the monthly flat fees it must pay to these types of providers.
- 8. RL&F believes the foregoing rates are the market rates that the majority of law firms charges clients for such services. In addition, RL&F believes that such charges are in accordance with the American Bar Association's ("ABA") guidelines, as set forth in the ABA's

Statement of Principles, dated January 12, 1995, regarding billing for disbursements and other charges.

Summary of Services Rendered

- 9. The directors and associates of RL&F who have rendered professional services in these cases are as follows: Donald A. Bussard, Mark D. Collins, Russell Silberglied, Paul N. Heath, Chun I. Jang, Michael W. Romanczuk, Lee E. Kaufman, L. Katherine Good, Tiffany N. Piland, Zachary I. Shapiro, Andrew C. Irgens and Julie A. Finocchiaro. The paraprofessionals of RL&F who have provided service to these attorneys in these cases are as follows: Aja E. McDowell, Ann Jerominski, Barbara J. Witters, Cathy M. Greer, Rebecca V. Speaker, Janel Gates, Jamie E. Schairer, Tracy A. Cameron, Marisa C. DeCarli, Brenda D. Tobin and Rochelle I. Warren.
- assisted in the preparation of various applications and orders submitted to the Court for consideration, advised the Debtors on a regular basis with respect to various matters in connection with these cases, and has performed all necessary professional services which are described and narrated in detail hereinafter.

Summary of Services By Project

11. The services rendered by RL&F during the Compensation Period can be grouped into the categories set forth below. These categories are generally described below, with a more detailed identification of the actual services provided set forth on the attached Exhibit A. The attorneys and paraprofessionals who rendered services relating to each category are identified, along with the number of hours for each individual and the total compensation sought for each category, in Exhibit A attached hereto.

Α. Case Administration/Miscellaneous Matters

Fees: \$9,714.50: Total Hours: 33.9

This category includes all matters related to filing documents with the Court, service thereof, maintenance of calendars, communications with the U.S. Trustee, review of work in process reports, review of notices of appearance and maintaining service lists.

B. Creditor Inquiries

Fees: \$690.00: Total Hours: 2.7

This category includes all matters related to responding to creditor inquiries.

C. Meetings

Fees: \$8,049.00: Total Hours: 26.2

This category includes all matters related to preparing for and attending meetings with Debtors, the creditors' committees, individual creditors, the U.S. Trustee and co-counsel.

D. Executory Contracts/Unexpired Leases

Fees: \$4,817.50: Total Hours: 15.5

This category includes all matters related to contract and lease analysis and matters related to assumption, assignment or rejection of executory contracts and unexpired leases.

E. Automatic Stay/Adequate Protection

Fees: \$105.00: Total Hours: 0.2

This category includes all matters related to and including all motions to modify the automatic stay, issues related to the effect of the automatic stay or pending matters, and all other types of actions where adequate protection is the central issue.

5

F. Plan of Reorganization/Disclosure Statement

Fees: \$0.00: Total Hours: 0.0

This category includes all matters related to review, formulation, negotiation,

preparation and promulgation of plans of reorganization, disclosure statements, and related

corporate documentation and research relating thereto.

G. Use, Sale, Lease of Assets

Fees: \$1,762.50: Total Hours: 6.2

This category includes all matters relating to acquisitions, dispositions and other

postpetition uses of property of the estate.

H. Cash Collateral/DIP Financing

Fees: \$0.00: Total Hours: 0.0

This category includes all matters relating to negotiation and documentation of

debtor in possession financing and post-confirmation financing, all cash collateral issues and

related pleadings.

Claims Administration I.

Fees: \$742.50: Total Hours: 1.5

This category includes all matters related to and including claims administration

matters and bar date matters, including claims objections and related contested matters.

J. Court Hearings

Fees: \$37,271.00: Total Hours: 120.8

This category includes all matters relating to preparation for and attendance at

court hearings.

6

RLF1 3520393v.1

K. General Corporate/Real Estate

Fees: \$4,575.00: Total Hours: 10.8

This category includes all matters relating to transactional, corporate governance and related matters involving the debtors' business operations that are not part of a plan of

reorganization or disclosure statement.

L. Schedules/SOFA/U.S. Trustee Reports

Fees: \$10,271.00: Total Hours: 28.8

This category includes preparation of schedules and amendments, statements of financial affairs and amendments, operating reports and other reports required by the U.S.

Trustee or Bankruptcy Court.

M. Employee Issues

Fees: \$1.941.00: Total Hours: 4.6

This category includes all matters related to employee wages, benefits, collective bargaining issues, other employee relations matters, ERISA, and retirement benefits.

N. Environmental

Fees: \$0.00: Total Hours: 0.0

This category includes all environmental matters, other than environmental

O. Tax Issues

aspects of plan of reorganization.

Fees: \$2,246.00: Total Hours: 8.0

This category includes all federal and state income, property, employment, excise and other tax matters, other than the tax aspects of plan of reorganization.

7

P. <u>Litigation/Adversary Proceedings</u>

Fees: \$30.00: Total Hours: 0.1

This category includes all matters relating to litigation and adversary proceedings.

Q-1. RL&F Applications

Fees: \$4,446.00: Total Hours: 16.1

This category includes all matters related to preparing applications to retain RL&F and supplements thereto.

Q-2. Retention of Others

Fees: \$6,785.50: Total Hours: 21.9

This category includes time spent reviewing applications for retention by other professionals, objecting to the retention of other professionals and assisting other professionals with preparing and filing retention applications.

R-1. RL&F Fee Application

Fees: \$1,488.00: Total Hours: 7.4

This category includes all time spent preparing, reviewing, filing, circulating and/or relating to monthly invoices and fee applications for RL&F.

R-2. Fee Application of Others

Fees: \$1,336.00: Total Hours: 4.9

This category includes time spent reviewing invoices or applications of other professionals, objecting to fees of other professionals and assisting other professionals with filing and circulating monthly invoices and applications.

S. <u>Vendor/Supplies</u>

Fees: \$0.00: Total Hours: 0.0

This category includes all matters related to vendors and suppliers, including reclamation issues.

T. Non-Working Travel

Fees: \$0.00: Total Hours: 0.0

This category includes all travel time not otherwise chargeable.

U. Utilities

Fees: \$1,444.00: Total Hours: 5.0

This category includes all matters related to utility issues.

V. Insurance

Fees: \$58.50: Total Hours: 0.3

This category includes all matters related to insurance policies or coverage.

Valuation of Services

12. Attorneys and paraprofessionals of RL&F have expended a total of 314.9 hours in connection with this matter during the Compensation Period, as follows:

<u>ATTORNEYS</u>	<u>HOURS</u>	HOURLY RATE
Donald A. Bussard	2.0	\$700
Mark D. Collins	11.5	\$675
Russell Silberglied	1.5	\$600
Paul N. Heath	54.9	\$525
Chun I. Jang	71.4	\$300
Michael W. Romanczuk	0.4	\$280
Lee E. Kaufman	0.4	\$275
L. Katherine Good	0.1	\$275
Tiffany N. Piland	6.2	\$275
Zachary I. Shapiro	52.8	\$245
Andrew C. Irgens	1.8	\$230
Julie A. Finocchiaro	21.8	\$230

PARAPROFESSIONALS	HOURS	HOURLY RATE
Aja E. McDowell	0.6	\$195
Ann Jerominski	1.1	\$195
Barbara J. Witters	4.5	\$195
Cathy M. Greer	2.5	\$195
Rebecca V. Speaker	0.4	\$195
Janel Gates	1.6	\$195
Jamie E. Schairer	67.3	\$195
Tracy A. Cameron	6.7	\$195
Marisa C. DeCarli	1.0	\$195
Brenda D. Tobin	4.2	\$100
Rochelle I. Warren	0.2	\$90

The nature of the work performed by these persons is fully set forth in <u>Exhibit A</u> attached hereto. These are RL&F's normal hourly rates for work of this character. The reasonable value of the services rendered by RL&F to the Debtors during the Compensation Period is \$97,773.00.

Bankruptcy Code, it is respectfully submitted that the amount requested by RL&F is fair and reasonable given (a) the complexity of these cases, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title. Moreover, RL&F has reviewed the requirements of Del. Bankr. L.R. 2016-2 and believes that this Application complies with that Rule.

WHEREFORE, RL&F respectfully requests that the Court authorize that for the period November 8, 2009 through December 31, 2009, an allowance be made to RL&F pursuant to the terms of the Administrative Order, with respect to the sum of \$97,773.00 as compensation for necessary professional services rendered (80% of which equals \$78,218.40), and the sum of \$11,758.14 as 100% reimbursement of actual necessary costs and expenses, for a total of \$109,531.14 and that such sums be authorized for payment and for such other and further relief as this Court may deem just and proper.

Dated: January 28, 2010 Wilmington, Delaware Respectfully submitted,

Mark D. Collins (No. 2981)
Paul Heath (No. 3704)
Chun I. Jang (No. 4790)
Zachary I. Shapiro (No. 5103)
RICHARDS, LAYTON & FINGER, P.A.
One Rodney Square
920 North King Street
Wilmington, Delaware 19801
(302) 651-7700 (Telephone)
(302) 651-7701 (Facsimile)

- and -

WEIL, GOTSHAL & MANGES LLP Marcia L. Goldstein Robert J. Lemons 767 Fifth Avenue New York, NY 10153 Telephone: (212) 310-8000 Facsimile: (212) 310-8007

ATTORNEYS FOR DEBTORS AND DEBTORS IN POSSESSION

VERIFICATION

STATE OF DELAWARE)
) SS
COUNTY OF NEW CASTLE)

Zachary I. Shapiro, after being duly sworn according to law, deposes and says:

- a) I am an associate with the applicant firm, Richards, Layton & Finger, P.A. and have been admitted to appear before this Court.
- b) I am familiar with the work performed on behalf of the Debtors by the lawyers in the firm.
- c) I have reviewed the foregoing Application and the facts set forth therein are true and correct to the best of my knowledge, information and belief. Moreover, I have reviewed Del. Bankr. L.R. 2016-2, and submit that the Application substantially complies with such order.

Zachary I. Shapiro (No. 5103)

SWORN AND SUBSCRIBED before me this 28th day of January, 2010.

My Commission Expires: 4/17/11

UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

	X	
	:	
In re	:	Chapter 11
	•	
ADVANTA CORP., et al.,	:	Case No. 09-13931 (KJC)
	:	
Debtors.1	:	(Jointly Administered)
	•	
	:	Objection Deadline: 2/17/10 at 4:00 p.m. (ET)
	X	

NOTICE OF FEE APPLICATION

PLEASE TAKE NOTICE that Richards, Layton & Finger, P.A. (the "Applicant") has today filed the attached First Monthly Application of Richards, Layton & Finger, P.A. for Allowance of Compensation for Services Rendered and for Reimbursement of Expenses as Co-Counsel to the Debtors and Debtors-in-Possession for the Period from November 8, 2009 through December 31, 2009 (the "Application") with the United States Bankruptcy Court for the District of Delaware, 824 Market Street, Wilmington, Delaware 19801 (the "Bankruptcy Court").

PLEASE TAKE FURTHER NOTICE that objections, if any, to the Application must be made in accordance with the Order Pursuant to Sections 330 and 331 of the Bankruptcy Code and Bankruptcy Rule 2016 Implementing Certain Procedures for the Interim

The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are Advanta Corp. (2070), Advanta Investment Corp. (5627), Advanta Business Services Holding Corp. (4047), Advanta Business Services Corp. (3786), Advanta Shared Services Corp. (7074), Advanta Service Corp. (5625), Advanta Advertising Inc. (0186), Advantanis Corp. (2355), Advanta Mortgage Holding Company (5221), Advanta Auto Finance Corporation (6077), Advanta Mortgage Corp. USA (2654), Advanta Finance Corp. (8991), Advanta Ventures Inc. (5127), BizEquity Corp. (8960), Ideablob Corp. (0726), Advanta Credit Card Receivables Corp. (7955), Great Expectations International Inc. (0440), Great Expectations Franchise Corp. (3326), and Great Expectations Management Corp. (3328). Each of the Debtors (other than Advanta Credit Card Receivables Corp. and the Great Expectations entities) maintains its principal corporate office at Welsh & McKean Roads, P.O. Box 844, Spring House, Pennsylvania 19477-0844. Advanta Credit Card Receivables Corp. maintains its principal corporate office at 2215 B. Renaissance Drive, Suite 5. Las Vegas, NV 89119, and the Great Expectations entities maintain their principal corporate office at 1209 Orange Street, Wilmington, Delaware 19801.

Compensation and Reimbursement of Professionals [Docket No. 102] (the "Administrative Order") and must be filed with the Clerk of the Bankruptcy Court, and be served upon and received by (i) the Debtors, Advanta Corp., P.O. Box 844, Spring House, Pennsylvania 19477-844 (Attn: Philip M. Browne); (ii) counsel to the Debtors, Weil, Gotshal & Manges, LLP, 767 Fifth Avenue, New York, New York 10153 (Attn: Robert L. Lemons, Esq.); (iii) local counsel to the Debtors, Richards Finger & Layton, P.A. One Rodney Square, 920 North King Street, Wilmington, Delaware 19801 (Attn: Chun I. Jang, Esq.); (iv) counsel to Official Committee of Unsecured Creditors, Latham & Watkins LLP, One Logan Square, 18th and Cherry Streets, Philadelphia, PA 19103 (Attn: Andrew C. Kassner); (v) local counsel to the Official Committee of Unsecured Creditors, Drinker Biddle & Reath LLP, 1100 North Market Street, Suite 1000, Wilmington, DE 19801 (Attn: Howard A. Cohen); and (vi) the Office of the United States Trustee for the District of Delaware, 844 King Street, Suite 2207, Lockbox 35, Wilmington, Delaware 19801 (Attn: Dave Klauder, Esq.) by no later than 4:00 p.m. (Eastern Standard Time) on February 17, 2010 (the "Objection Deadline").

PLEASE TAKE FURTHER NOTICE that if any responses or objections to the Application are timely filed, served and received in accordance with this notice, a hearing on the Application will be held at the convenience of the Bankruptcy Court. Only those objections made in writing and timely filed and received in accordance with the Administrative Order and the procedures described herein will be considered by the Bankruptcy Court at such hearing.

PLEASE TAKE FURTHER NOTICE that, pursuant to the Administrative Order, if no objection to the Application is timely filed, served and received by the Objection Deadline, the Applicant may be paid an amount equal to the lesser of (i) 80 percent of the fees and 100 percent of expenses requested in the Application or (ii) 80 percent of the fees and 100 percent of the expenses not subject to an objection without the need for further order of the Bankruptcy Court.

Dated: January 28, 2010 Wilmington, Delaware Respectfully submitted,

Mark D. Collins (No. 2981) Paul Heath (No. 3704) Chun I. Jang (No. 4790) Zachary I. Shapiro (No. 5103) RICHARDS, LAYTON & FINGER, P.A. One Rodney Square 920 North King Street Wilmington, Delaware 19801 (302) 651-7700 (Telephone) (302) 651-7701 (Facsimile)

- and -

WEIL, GOTSHAL & MANGES LLP Marcia L. Goldstein Robert J. Lemons 767 Fifth Avenue New York, NY 10153 Telephone: (212) 310-8000

Facsimile: (212) 310-8007

ATTORNEYS FOR THE DEBTORS AND DEBTORS IN POSSESSION

Exhibit A

January 27, 2010 Invoice 349252 Page 3

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Case Administration

11/08/09	Finalize and file re: petitions (x7) (administration motion (x15) (1.2); (.1); Finalize and file re: notice of c	Attention to e-ma	il re: creditor matrix	
Paralegal	Barbara J. Witters	2.50 hrs.	195.00	\$487.50
11/08/09	Efile declaration of William A. Rospetitions and first-day motions	soff in support of	the debtors' chapter 11	
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/09/09	Review and revise pro hac motions Email correspondence with J. Dubo			
Associate	Chun I. Jang	0.40 hrs.	300.00	\$120.00
11/09/09	Attend to critical dates (.5); Efile pr Efile pro hac vice motion of R. Len Jordan (.1); Review documents from	nons (.1); Efile p	ro hac vice motion of R.	
Paralegal	Jamie E. Schairer	1.10 hrs.	195.00	\$214.50
11/09/09	Email correspondence with C. Jang hacs (.1); Review of pro hac motion pro hac motion for R. Jordan for fil M. Goldstein for filing (.1); Email (hacs (.1)	n for R. Lemons ing (.1); Review	for filing (.1); Review of of pro hac motion for	
Director	Paul N. Heath	0.50 hrs.	525.00	\$262.50
11/10/09 Paralegal	Maintain pleadings Brenda D. Tobin	0.40 hrs.	100.00	\$40.00
11/10/09	Review docket for filed orders from Jang and J. Finocchiaro re: first day	orders and servi	ce of same (.3)	
Paralegal	Jamie E. Schairer	0.70 hrs.	195.00	\$136.50

January 27, 2010 Invoice 349252 Page 4

Client # 707765

11/10/09	Coordinate service of joint administratio	n order		
Paralegal	Jamie E. Schairer 0.1	0 hrs.	195.00	\$19.50
11/10/09	Email correspondence with C. Jang and Email correspondence with C. Jang and Email correspondence with J. Schairer at	J. Schairer	re: service issue (.2);	
Director		0 hrs.	525.00	\$210.00
11/10/09	Maintain/organize original pleadings			
Paralegal	Rochelle I. Warren 0.2	0 hrs.	90.00	\$18.00
11/11/09	Email correspondence with R. Jordan an matrix	d Garden	City re revised creditor	
Associate	Chun I. Jang 0.1	0 hrs.	300.00	\$30.00
11/11/09	Email to court re: filed creditor matrix (. pleadings (.1); Review orders and update Circulate critical dates calendar to P. He	e critical d	ates calendar (1.0);	
Paralegal		30 hrs.	195.00	\$253.50
11/11/09	Review of critical dates calendar			
Director	Paul N. Heath 0.2	20 hrs.	525.00	\$105.00
11/12/09	Call with R. Jordan and P. Heath re: add from R. Jordan re: additional petitions (itions (.1); Review email	
Associate		20 hrs.	300.00	\$60.00
11/12/09	Review docket for recently filed pleadin matrix (.5)	gs (.1); At	tend to issue re: creditor	
Paralegal	• •	60 hrs.	195.00	\$117.00
11/12/09	Call with C. Jang re: additional petitions Jang, R. Lemons and R. Jordan re: filing with R. Jordan re: additional petitions (.	g issues (.1		
Director	•	30 hrs.	525.00	\$157.50

January 27, 2010 Invoice 349252

Page 5

Client # 707765

		4 1 1 1 1 1 1	1.	
11/13/09	Review petitions for filing of ac pleadings (1.9); Attention to fil- pleadings (.3)			g
Associate	Chun I. Jang	2.20 hrs.	300.00	\$660.00
11/13/09	Attend to issue re: creditor mater pleadings (.1); Email to Garden Update critical dates calendar (. J. Finocchiaro (.1)	City re: updating 2	2002 service list (.1);	d
Paralegal	Jamie E. Schairer	1.00 hrs.	195.00	\$195.00
11/13/09	Meeting with C. Jang re: addition. C. Jang re: additional petitions		g issues (.1); Meeting w	vith
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/16/09	Call with Garden City re: equitwith R. Jordan re: additional de of lease modification motion ar	btors (.1); Call with		
Associate	Chun I. Jang	0.70 hrs.	300.00	\$210.00
11/16/09 Paralegal	Review docket for recently file Jamie E. Schairer	d pleadings 0.10 hrs.	195.00	\$19.50
11/16/09 Director	Call on venue Mark D. Collins	0.40 hrs.	675.00	\$270.00
11/17/09	Review docket for recently file calendar (.5)	d pleadings (.1); U _l	odate critical dates	
Paralegal	Jamie E. Schairer	0.60 hrs.	195.00	\$117.00
11/17/09	Call with C. Jang re: as-filed ve Conference with J. Schairer re: same (.1)			
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 6

Client # 707765

11/18/09	Email correspondence with Garden Cit service of same (.1); Email correspondence: same (.2)			
Associate	` '	.30 hrs.	300.00	\$90.00
11/18/09	Email Garden City re: service of after-l	hours filings		
Paralegal		.10 hrs.	195.00	\$19.50
11/19/09	Call with R. Jordan re filing of addition Heath re same (.1)	nal cases (.1);	Discussion with P.	
Associate	Chun I. Jang	.20 hrs.	300.00	\$60.00
11/19/09	Call regarding M. Wasserman at Garde National newspapers (.1); Meet with C			
Associate).20 hrs.	230.00	\$46.00
11/19/09	Email correspondence with R. Jordan	and R. Lemor	ns re: additional debtors	
Director	-).20 hrs.	525.00	\$105.00
11/20/09	Discussion with P. Heath re: filing of a filing of additional debtors and related correspondence with R. Jordan re: filing pleadings (.1); Email and phone correspondence (.1)	pleadings (2. ng of addition	8); Email al debtors and related	
Associate	` '	3.10 hrs.	300.00	\$930.00
11/20/09	Review docket for recently filed plead calendar (.2); Efile petitions of Advant Receivables Corp., Ideablob Corp. and distribution and Garden City (.2)	ta Ventures Ir	nc. Advanta Credit Card	
Paralegal	• • •	1.30 hrs.	195.00	\$253.50
11/20/09	Email re: newly filed petitions and mo	tions		
Associate	Julie A. Finocchiaro	0.50 hrs.	230.00	\$115.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 7

Client # 707765

11/20/09	Email correspondence with C. Ja additional petitions for filing (.4 petitions (.2); Email corresponde (.2)); Meeting with C.	Jang re: additional	
Director	Paul N. Heath	1.00 hrs.	525.00	\$525.00
11/20/09	Review of motion to apply first	day orders to addit		
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
11/20/09	Conference with C. Jang re: filing entities (x3) (.2); Review same (motion for additional debtors (x Coordinate filing of same (.2); Correspondence with with J. Finocchiaro re: same (.1) hearing binder for additional del Kaufman re: same (.1)	(.4); Conference w 2) (.2); Review and Conference with J. C. Jang re: same (); Conference with btor entities (x2) (.	ith C. Jang re: "me too" d revise same (.3); Schairer re: service of (x2) (.2); Correspondent J. Schairer re: first day 2); Conference with L.	ce
Associate	Zachary I. Shapiro	2.10 hrs.	245.00	\$514.50
11/21/09	Email correspondence with C. J	-		
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
11/23/09	Review docket for recently filed	l pleadings		
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/24/09	Attention to service of joint adn	ninistration order a	and 341 notice	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/24/09	Review docket for recently filed re: "me too" motion for addition			er
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/24/09	Meet with R. Jordan re: status			
Director	Paul N. Heath	0.90 hrs.	525.00	\$472.50

January 27, 2010 Invoice 349252 Page 8

Client # 707765

11/25/09	Assist with preparation of in			
Paralegal	Cathy M. Greer	0.20 hrs.	195.00	\$39.00
11/25/09	Attention to UST informatio information request items (.2		attention to UST	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/30/09	Call to chambers re: request entered on main docket	to have orders from se	econd group of petitions	
Paralegal	Ann Jerominski	0.10 hrs.	195.00	\$19.50
11/30/09	Email correspondence with I (.2); Email correspondence v	R. Lemons re: joint ad with J. Ganesh re: loca	ministration order (x2) Il rules re: notice (.1)	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
11/30/09	Review correspondence from	n C. Jang re: 2015.3 re	eports (x3)	
Associate	Zachary I. Shapiro	0.20 hrs.	245.00	\$49.00
11/30/09	Conference with C. Jang re: debtors and docketing same (.1); Correspondence to and Jerominski re: same (.1); Co certification of no objection Review same and coordinate	in main case (.1); Res from C. Jang re: same rrespondence with B. for clarifying New Or	earch docket re: same e (.1); Conference with A. Witters re: filing	
Associate	Zachary I. Shapiro	0.70 hrs.	245.00	\$171.50
12/01/09	Review docket for recently for Circulate critical dates calen Z. Shapiro and J. Finocchian	dar to K. Prindle, R. J	ttend to critical dates (.3); fordan, P. Heath, C. Jang,	
Paralegal	Jamie E. Schairer	0.50 hrs.	195.00	\$97.50
12/01/09 Director	Review of critical dates cale Paul N. Heath	endar 0.10 hrs.	525.00	\$52.50
_ ******	Review docket for recently:			
12/02/09				

January 27, 2010 Invoice 349252 Page 9

Client # 707765

12/03/09	Review docket for recently filed p	leadings 0.10 hrs.	195.00	\$19.50
Paralegal	Jamie E. Schane	0.10 1113.	1,55.00	7
12/04/09	Email with J. Schairer re: orders			<u>ቀር</u> ስ ድዕ
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/07/09	Review docket for recently filed p	leadings		
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/07/09	Update critical dates calendar			
Paralegal	Jamie E. Schairer	0.70 hrs.	195.00	\$136.50
12/09/09	Review docket for recently filed produced the dates calendar to P. Heath, C. Jan	oleadings (.1); Ci g, Z. Shapiro and	rculate updated critical d J. Finocchiaro (.1)	
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
12/09/09	Review of critical dates calendar			
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
	we so see that the first			
12/10/09	Update critical dates calendar Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
Paralegal	Jamie B. Schaner	0.10 1110.		
12/10/09	Meet with R. Jordan re: case statu		£25.00	\$315.00
Director	Paul N. Heath	0.60 hrs.	525.00	φ515.00
12/11/09	Circulate updated critical dates ca	alendar to K. Pri	ndle	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/15/09	Review docket for recently filed	nleadings		
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
•		·1	OT was augtomor agazint	
12/16/09	Circulate correspondence to distr number	noution from AL	71 re: customer account	
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
=				

January 27, 2010 Invoice 349252 Page 10

Client # 707765

12/16/09	Case administration issues in con-	nection 341 meet	ing	
Associate	Zachary I. Shapiro	0.20 hrs.	245.00	\$49.00
12/17/09	Status call with Garden City			
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/17/09	Update critical dates calendar			
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/20/09	Email with V. Vron re: pro hac m	otion		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/21/09	Email Oklahoma Tax Commissio Federal express same to Garden O		m to Garden City (.1);	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/21/09	Review correspondence from V. correspondence from C. Jang re: hac motion for V. Vron (.6); Circ (.1)	same (.1); Reviev	w, revise and finalize pro	1
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
12/22/09	Attend to critical dates calendar			
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/22/09	Review correspondence from J. S	Schairer re: filing	s on 12/21/09	
Associate	Zachary I. Shapiro	0.10 hrs.	245.00	\$24.50
12/23/09	Review docket for recently filed particular (.1)	pleadings (.1); U	pdate critical dates	
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
12/23/09	Email with C. Jang and K. Petrio	no re: service iss	ues	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50

January 27, 2010 Invoice 349252 Page 11 Client # 707765

TO	OTAL DUE FOR THIS MATTER	₹		\$9,714.50
TC	TAL DUE FOR THIS INVOICE			\$9,714.50
	Tot	al Fees for Profes	sional Services	\$9,714.50
12/30/09 Associate	Review email from V. Vron re: 1 Chun I. Jang	record keeping 0.10 hrs.	300.00	\$30.00
12/29/09 Associate	Email V. Vron re: retention of re Chun I. Jang	cords 0.10 hrs.	300.00	\$30.00
12/23/09 Associate	Review correspondence from J. S Zachary I. Shapiro	Schairer re: docke 0.10 hrs.	et update 245.00	\$24.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 12

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Creditor Inquiries

11/16/09	Telephone call from J. Pardella re: q	uestions re: credi	itor of Advanta	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/20/09 Paralegal	Respond to creditor telephone call Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
12/01/09 Associate	Creditor inquiry call from noteholde Chun I. Jang	r 0.20 hrs.	300.00	\$60.00
12/01/09	Attend to telephone messages from	potential creditor	s (.2); Return	
Paralegal	telephone calls from creditors (.4) Jamie E. Schairer	0.60 hrs.	195.00	\$117.00
12/02/09 Paralegal	Attend to telephone call from credite Jamie E. Schairer	or 0.20 hrs.	195.00	\$39.00
12/03/09	Circulate correspondence from B. D	e Campli to distr	ibution list	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/03/09 Director	Call with creditor re: status Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/07/09 Associate	Creditor inquiry call from noteholde Chun I. Jang	er 0.10 hrs.	300.00	\$30.00
12/07/09 Paralegal	Return telephone calls from creditor Jamie E. Schairer	rs 0.20 hrs.	195.00	\$39.00
12/09/09 Paralegal	Telephone call from creditor Jamie E. Schairer	0.20 hrs.	195.00	\$39.00

January 27, 2010 Invoice 349252 Page 13

Client # 707765

12/15/09	Circulate Oklahoma Tax Commission's proof of claim in re: Advanta Business Services Corp. to distribution					
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00		
12/16/09	Telephone calls re: creditor					
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00		
12/29/09	Call with creditor re: case status inquiry					
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00		
Total Fees for Professional Services				\$690.00		
	_					
T(OTAL DUE FOR THIS INVOI	CE		\$690.00		
TOTAL DUE FOR THIS MATTER						

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 14

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Meetings

11/10/09	Email correspondence with D. Klaucorrespondence with C. Jang and R.			
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/11/09	Call with M. Collins re: committee	formation		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/12/09	Review email from D. Klauder re: 3 (x4) with Weil and P. Heath re: 341	• • • • • • • • • • • • • • • • • • • •	Email correspondence	
Associate	Chun I. Jang	0.40 hrs.	300.00	\$120.00
11/12/09	Email correspondence with D. Klaucorrespondence with R. Jordan and correspondence with R. Jordan, R. I	R. Lemons re: 34	1 meeting (.2); Email	
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00
11/13/09	Review email from D. Klauder re: 3 with Weil Gotshal re: 341 meeting ((.1); Email correspondence with R. initial debtor interview (.1)	(.1); Review requ	est for 341 meeting	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/13/09	Meet with C. Jang re: 341 memoran (0.3); Draft 341 memorandum (1.0)		arch 341 memorandum	
Associate	Julie A. Finocchiaro	1.40 hrs.	230.00	\$322.00
11/13/09	Email correspondence with D. Klau correspondence with R. Jordan re: frequency correspondence with D. Klauder re: with C. Jang and R. Jordan re: 341 r. C. Jang and J. Finocchiaro re: 341 r.	formation meeting (.1) meeting (.1) meeting (.1);	g issue (.1); Email); Email correspondence	
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 15

Client # 707765

11/16/09	Review and revise memorandum re: 341 meeting and initial debtor interview (.2); Email J. Finocchiaro re: 341 notice (.1); Email correspondence with R. Jordan re: formation meeting (.1); Review emails from R. Jordan re: initial debtor interview (.1)					
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00		
11/16/09	Revise 341 memorandum re: C.Jang.					
Associate	Julie A. Finocchiaro	0.20 hrs.	230.00	\$46.00		
11/16/09	Call with B. Pfeiffer re: committee formation meeting (.2); Email correspondence with C. Jang, D. Klauder and J. Leamy re: formation meeting (.1); Email correspondence with R. Jordan and C. Jang re: formation meeting (.1); Meeting with C. Jang re: 341 meeting (.2); Email correspondence with M. Collins re: 341 meeting (.1)					
Director	Paul N. Heath	0.70 hrs.	525.00	\$367.50		
11/16/09	Email correspondence with C	. Jang re: initial debt	or interview			
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50		
11/17/09	Email correspondence with R. Jordan re: initial debtor interview and 341 meeting (.1); Email J. Dubow and P. Browne re: initial debtor interview (.1); Email J. Dubow and P. Browne re: 341 meeting memorandum (.1)					
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00		
11/17/09	Email correspondence with M. Collins re: Committee formation meeting					
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00		
11/18/09	Discussion with J. Finocchairo re: 341 notice (.1); Call with Advanta re initial debtor interview (.1); Call with M. West re: initial debtor interview (.1); Revise 341 memorandum (.1); Email parties re: initial debtor interview (.1); Email correspondence with Garden City re: 341 notice (.1); Email correspondence with A. Sagat re: formation meeting (.1)					
Associate	Chun I. Jang	0.70 hrs.	300.00	\$210.00		

January 27, 2010 Invoice 349252 Page 16

Client # 707765

11/18/09	Prepare binder for initial debtor inte Draft index re: same (.8)	rview and forma	tion meeting (2.2);		
Paralegal	Jamie E. Schairer	3.00 hrs.	195.00	\$585.00	
11/18/09	Update notice of 341 meeting				
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00	
11/18/09	Meet with C. Jang re: 341 memoran Draft 341 notice (1.9)	dum (.1); Resear	rch 341 notices (1.0);		
Associate	Julie A. Finocchiaro	3.00 hrs.	230.00	\$690.00	
11/18/09	Preparation for formation meeting				
Director	Mark D. Collins	0.40 hrs.	675.00	\$270.00	
11/18/09	Email correspondence with B. Pfeiffer re: Committee formation meeting (.2); Email correspondence with C. Jang and C. Johnson re: 341 notice (.1)				
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50	
11/18/09	Email correspondence with C. Jang, debtor interview	, J. Dubow and F	R. Jordan re: initial		
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00	
11/19/09	Assist in preparation for formation and Garden City re: 341 notice (.1)	meeting (.7); Cal	ll with M. Wasserman at		
Associate	Chun I. Jang	0.80 hrs.	300.00	\$240.00	
11/19/09	Email correspondence with M. Coll correspondence with R. Lemons re:				
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00	
11/19/09 Director	Meeting with C. Jang re: initial debraul N. Heath	tor interview 0.10 hrs.	525.00	\$52.50	
Director 11/19/09	correspondence with R. Lemons re: Paul N. Heath Meeting with C. Jang re: initial debt	Committee form 0.20 hrs.	nation (.1) 525.00	•	

Matter # 167839

Client # 707765

January 27, 2010

Invoice 349252

Page 17

11/19/09	Review correspondence from A. Sa correspondence from C. Jang re: san same (.1)	gat re: formatio me (x2) (.1); Co	n meeting (.1); Review onference with C. Jang re:	
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
11/20/09	Attend telephonic initial debtor inte same (.1)	erview (.8); Disc	cussion with P. Heath re:	
Associate	Chun I. Jang	0.90 hrs.	300.00	\$270.00
11/20/09 Paralegal	Update notice of 341 meeting Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/20/09	email correspondence with C. Jang for call with UST re: initial debtor i	gre: initial debte interview (.3)	or interview (.1); prepare	
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
11/23/09 Associate	Prepare for 341 meeting Julie A. Finocchiaro	0.10 hrs.	230.00	\$23.00
11/24/09	Review and revise 341 notice (.2); same (.1); Discussion with J. Finoc of same (.1)	Email correspo chiaro re: same	ndence with R. Jordan re: e(.1); Attention to filing	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/24/09	Review notice of 341 meeting (.3);			0.07 50
Paralegal	Jamie E. Schairer	0.50 hrs.	195.00	\$97.50
11/24/09 Associate	Review, revise and make changes t Julie A. Finocchiaro	to 341 notice fo 0.70 hrs.	r C. Jang 230.00	\$161.00
11/24/09 Director	Email with C. Jang re: 341 notice Paul N. Heath	0.10 hrs.	525.00	\$52.50

Matter # 167839

Client # 707765

January 27, 2010

Invoice 349252

Page 18

11/25/09	Assist Z. Shapiro with prepara (.2); Coordinate submission o	ation of initial debtor	interview documents	
Paralegal	(.2); Coordinate submission of	0.40 hrs.	195.00	\$78.00
1 araiogai	1 1111 0 01 0111110000			
11/25/09	Revise materials for initial de	btor interview binder		
Paralegal	Marisa C. DeCarli	0.20 hrs.	195.00	\$39.00
11/30/09	Call with Garden City re: serv	vice of 341 notice		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/15/09	Call with R. Lemons re: 341 company and Weil (1.2)	meeting (.1); Attend	weekly status call wit	h
Associate	Chun I. Jang	1.30 hrs.	300.00	\$390.00
12/15/09	Meet with C. Jang re: 341 mere: 341 meeting (.1); Email C	eeting (.2); Email wit L. Jang and V. Vron re	h R. Lemons and C. Je: 341 meeting (.1)	ang
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/16/09	Call with V. Vron re: 341 me	eeting		
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
12/17/09	Prepare for 341 meeting (.4); Discussion with M. Collins r 341 meeting (.1)	Prepare for and atter e: 341 meeting (.1); (nd 341 meeting (2.8); Call with R. Lemons r	e:
Associate	Chun I. Jang	3.40 hrs.	300.00	\$1,020.00
12/17/09 Paralegal	Assist with preparation for 3- Jamie E. Schairer	41 meeting 1.10 hrs.	195.00	\$214.50
12/17/09 Director	Meet with C. Jang re: 341 me Paul N. Heath	eeting 0.20 hrs.	525.00	\$105.00
12/19/09 Director	Multiple emails with D. Buss Russell Silberglied	sard et al re: scheduli 0.10 hrs.	ng call 600.00	\$60.00

January 27, 2010 Invoice 349252 Page 19

Client # 707765

	Total Fees for Professional Services	\$8,049.00
TOTAL DUE FOR THIS	SINVOICE	\$8,049.00
TOTAL DUE FOR TH	IS MATTER	\$8,049.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 20

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Executory Contracts/Unexpired Leases

1014111	5 to <i>Direction</i> , Comments consequently				
11/11/09 Director	Call with R. Lemons re: lease issue Paul N. Heath	0.20 hrs.	525.00	\$105.00	
11/13/09 Associate	Call with J. Alcantar re: lease amend Chun I. Jang	lment 0.10 hrs.	300.00	\$30.00	
11/15/09 Associate	Review lease amendment motion Chun I. Jang	0.30 hrs.	300.00	\$90.00	
11/15/09	Review of email from J. Alcantar re draft lease amendment motion (.3); Alcantar re: motion to amend lease (Review of emails			
Director	Paul N. Heath	0.50 hrs.	525.00	\$262.50	
11/16/09	Assist with preparation and filing of motion authorizing entry into lease amendment with Liberty Property (.4); Coordinate service of same (.1); File motion to shorten notice re: same (.3); Coordinate service of same (.1); Coordinate submission to chamber re: same (.1)				
Paralegal	Cathy M. Greer	1.00 hrs.	195.00	\$195.00	
11/16/09	Review revised lease amendment m same (.2); Call with R. Sharma re: s (.1); Attention to lease amendment (2.1)	ame (.1); Call w	ith Z. Shapiro re: same		
Associate	Chun I. Jang	2.70 hrs.	300.00	\$810.00	
11/16/09	Meeting with C. Jang re: lease issue (.3); Research re: lease issue (.4); Email correspondence with C. Jang re: motion to amend lease (.1); Review of motion to amend lease for filing (.3)				
Director	Paul N. Heath	1.10 hrs.	525.00	\$577.50	

January 27, 2010 Invoice 349252 Page 21

Client # 707765

11/17/09	Email correspondence with J. modification motion	Alcantar re: order sh	ortening notice re: leas	e
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/17/09	Serve order re: motion to sho	rten re: lease amendn	nent with Liberty Prope	rty
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/20/09	File Motion regarding Order	for Unexpired Leases	(.2); Serve same (.2)	
Paralegal	Tracy A. Cameron	0.40 hrs.	195.00	\$78.00
11/29/09	Review email from D. Epstei email from J. Bondi re: same		on motion (.1); Review	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/01/09	Draft certification of no object lease amendment with Libert for review (.1)	ction re: motion for o y Property LP (.2); C	rder authorizing entry in irculate same to C. Jang	nto g
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/02/09	Review and revise order auth Liberty Property LP	orizing entry into lea	se amendment with	
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00
12/02/09 Director	Email with R. Jordan re: leas Paul N. Heath	e issue 0.20 hrs.	525.00	\$105.00
12/03/09	Call with R. Jordan and P. H correspondence with P. Heat			
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
12/03/09	Call to R. Jordan with C. Jan and C. Jang re: lease motion); Email with R. Jordar	n
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00

January 27, 2010 Invoice 349252 Page 22

Client # 707765

12/10/09	Email with R. Lemons and	C. Jang re: lease issue		
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/15/09	Email correspondence with	C. Jang re: motion to r	eject contracts	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/17/09	Email with D. Griffiths re: or: re: same (.6)	contract rejection motion	ons (.2); Review motio	ns
Associate	Chun I. Jang	0.80 hrs.	300.00	\$240.00
12/18/09	Finalize and file re: motion Email to Garden City re: ser	*	orship contracts (.2);	
Paralegal	Barbara J. Witters	0.30 hrs.	195.00	\$58.50
12/18/09	Attention to contract rejection	on motions		
Associate	Chun I. Jang	1.10 hrs.	300.00	\$330.00
12/18/09	Draft notice of motion for a (.2); Circulate same to Z. Sl		n sponsorship contract	S
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/18/09	Review and revise motion f agreements (.2); Review and (.2); Draft notices for both	d revise motion to rejec	ct sponsorship contract	
Associate	Julie A. Finocchiaro	0.60 hrs.	230.00	\$138.00
12/18/09	Meet with C. Jang re: filing filing (.1); Meet with C. Jar			
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/18/09	Review motion to reject spo Jang summarizing same (.1	-); Correspondence to C	•
Associate	Zachary I. Shapiro	0.80 hrs.	245.00	\$196.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 23

Client # 707765

12/21/09 File motion for authority to reject that certain private label agreement (.2); Serve same (.1) Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 12/29/09 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1) Paralegal Marisa C. DeCarli 0.40 hrs. 195.00 \$78.00 12/29/09 Correspondence to T. Cameron re: notice of withdrawal re: Dresher lease motion (.1); Review, revise and finalize same (.2); Conference with M. DeCarli re: same (.1) Associate Zachary I. Shapiro 0.40 hrs. 245.00 \$98.00 Total Fees for Professional Services \$4,817.50	T	OTAL DUE FOR THIS MAT	TER		\$4,817.50
Serve same (.1) Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1) Paralegal Marisa C. DeCarli 0.40 hrs. 195.00 \$78.00 Correspondence to T. Cameron re: notice of withdrawal re: Dresher lease motion (.1); Review, revise and finalize same (.2); Conference with M. DeCarli re: same (.1) Associate Zachary I. Shapiro 0.40 hrs. 245.00 \$98.00	TO	OTAL DUE FOR THIS INVOICE	CE		\$4,817.50
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 12/29/09 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1) Paralegal Marisa C. DeCarli 0.40 hrs. 195.00 \$78.00 12/29/09 Correspondence to T. Cameron re: notice of withdrawal re: Dresher lease motion (.1); Review, revise and finalize same (.2); Conference with M. DeCarli re: same (.1)			Total Fees for Profes	esional Services	\$4,817.50
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 12/29/09 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1) Paralegal Marisa C. DeCarli 0.40 hrs. 195.00 \$78.00 12/29/09 Correspondence to T. Cameron re: notice of withdrawal re: Dresher lease motion (.1); Review, revise and finalize same (.2); Conference with M. DeCarli re: same (.1)	Associate	Zachary I. Shapiro	0.40 hrs.	245.00	\$98.00
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 12/29/09 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1)	12/29/09	motion (.1); Review, revise a	and finalize same (.2);	; Conference with M.	#00.00
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1) Associate Zachary I. Shapiro 1.40 hrs. 245.00 \$343.00 12/29/09 Draft notice of withdrawal re: motion re: lease amendment with Liberty Property Limited Partnership (.3); Finalize and file same (.1)	Paralegal	Marisa C. DeCarli	0.40 hrs.	195.00	\$78.00
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to T. Cameron re: service of same (.1); Call with T. Cameron re: service of same (.1); Call with C. Jang re: status of same (.1)	12/29/09		(.3); Finalize and file	e same (.1)	450.00
Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50 12/21/09 Review correspondence from C. Jang re: motion to reject private label agreement (.1); Correspondence to C. Jang re: same (.1); Review, revise and finalize motion to reject private label agreement and related notice of filing of same (.8); Conference with L. Kaufman re: same (.1); Correspondence to	Associate	same (.1); Call with C. Jang	re: status of same (.1)		\$343.00
Serve same (.1) Paralegal Tracy A. Cameron 0.30 hrs. 195.00 \$58.50	12/21/09	agreement (.1); Corresponder finalize motion to reject private of same (.8); Conference with	nce to C. Jang re: sam ate label agreement ar h L. Kaufman re: sam	ne (.1); Review, revise and ond related notice of filing e (.1); Correspondence to	
Serve same (.1)	Paralegal	•			φ36.30
		Serve same (.1)			\$58 5 0

January 27, 2010 Invoice 349252 Page 24 Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Automatic Stay/Adequate Protection

12/17/09

Call to V. Vron re: motion to extend stay

Director

Paul N. Heath

0.20 hrs.

525.00

\$105.00

Total Fees for Professional Services

\$105.00

TOTAL DUE FOR THIS INVOICE

\$105.00

TOTAL DUE FOR THIS MATTER

\$105.00

January 27, 2010 Invoice 349252 Page 25

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Use, Sale of Assets

11/08/09	Efile cash management motion			
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/09/09	Correspondence to C. Jang re: same	(.1)		
Associate	Zachary I. Shapiro	0.10 hrs.	245.00	\$24.50
11/10/09	Draft notice of entry of interim orde Circulate same to J. Finocchiaro for (.1)			
Paralegal	Jamie E. Schairer	1.30 hrs.	195.00	\$253.50
11/12/09	Email correspondence with R. Jorda	ın re uniform den	ository agreements	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/12/00	David commandance with M. Woo	t mai IID A a sviith l	hanka	
11/13/09 Associate	Email correspondence with M. Wes Chun I. Jang	0.10 hrs.	300.00	\$30.00
	<u> </u>			
11/16/09	Conference with C. Jang re: motion to amend lease (.1); Review and revise motion to amend lease (.4); Conference with C. Jang re: same (.2); Call with C. Jang re: same and draft of motion to shorten re: same (.1); Draft, revise and finalize motion shorten same (.6); Conference with C. Jang re: same (.1); Review, revise and finalize motion to amend lease and related notice of filing same (.3); Coordinate filing of same, notice of filing of same and motion to shorten same (.3)			
Associate	Zachary I. Shapiro	2.10 hrs.	245.00	\$514.50
11/24/09	Circulate notice of substantial stock	ownershin to dis	etribution list	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
•				

January 27, 2010 Invoice 349252 Page 26

Client # 707765

11/24/09	Conference with C. Jang re: notice of by stockholder and procedures for fit correspondence from J. Schairer for ownership (.1)	ling of same (.1]); Review	
Associate	Zachary I. Shapiro	0.20 hrs.	245.00	\$49.00
12/09/09	Email correspondence with R. Lemo	ons and P. Heath	re: investment	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/09/09	Email with R. Jordan and C. Jang re R. Lemons re: investment guidelines		idelines (.4); Email with	
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00
12/10/09	Review email from R. Lemons re: in	-		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/10/09	Email with R. Lemons and C. Jang	re: investment g	uidelines	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/11/09	Email with R. Lemons re: investmen	nt guide lines		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/18/09	Attention to 9019 motion re: intelled	ctual property lit	igation	
Associate	Chun I. Jang	0.60 hrs.	300.00	\$180.00
12/27/09	Review email from V. Vron re: 400	1-3 statement		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/29/09	Email V. Vron re: 4001-3 statement	:		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00

TOTAL DUE FOR THIS INVOICE \$1,762.50

TOTAL DUE FOR THIS MATTER \$1,762.50

January 27, 2010 Invoice 349252 Page 28

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Claims Administration

11/11/09 Director	Meeting with C. Jang re: claims trace Paul N. Heath	ding motion 0.20 hrs.	525.00	\$105.00
11/12/09 Associate	Email correspondence with R. Jord Chun I. Jang	an re claims tra 0.10 hrs.	ading 300.00	\$30.00
11/12/09 Director	Email correspondence with C. Jang Paul N. Heath	and R. Jordan 0.20 hrs.	re: claims issue 525.00	\$105.00
11/13/09 Director	Email correspondence with M. Col Paul N. Heath	lins re: claim is 0.10 hrs.	ssue 525.00	\$52.50
11/24/09	Email with R. Jordan and R. Lemo with J. Leamy re: claims trading m	ns re: claims tro	ading motion (.2); Email	
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/02/09	Review of research re: claims tradi			
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/28/09 Associate	Email correspondence with A. Fish Chun I. Jang	n re: bar date no 0.10 hrs.	300.00	\$30.00
	Total	Fees for Profes	ssional Services	\$742.50
TO	OTAL DUE FOR THIS INVOICE		-	\$742.50
Т	OTAL DUE FOR THIS MATTER		-	\$742.50

January 27, 2010 Invoice 349252 Page 29

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Court Hearings

relating to Court Hearings					
TCIAIII	ig to Court Hourings				
11/08/09 Paralegal	Assist with first day motions and he Barbara J. Witters	earing binders	195.00	\$331.50	
11/08/09 Paralegal	Prepare first day hearing binder Brenda D. Tobin	3.80 hrs.	100.00	\$380.00	
11/08/09 Associate	Review first day items and prepare : Chun I. Jang	same for filing 3.40 hrs.	300.00	\$1,020.00	
11/08/09 Paralegal	Assist with the preparation of first of Jamie E. Schairer	lay hearing binde 0.50 hrs.	rs 195.00	\$97.50	
11/08/09	Telephone call with C. Jang re: first day hearing (.2); E-mail correspondence with C. Jang re: same (.2)				
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00	
11/08/09 Paralegal	Prepare first day hearing binders Tracy A. Cameron	3.00 hrs.	195.00	\$585.00	
11/09/09	Review first day binders and deliver same to US Trustee and court (.7); Call with court re: delivery of first day binders and first day hearing (.1); Email company re: status of first day hearing (.1); Call with P. Heath and R. Lemons re: first day hearing (.3); Call with chambers re: first day hearing (.1); Discussion with P. Heath re: same (.1); Email parties re: first day hearing and attention to notice of same (.1); Conference call with company and Weil Gotshal re: first day hearing (.8); Call with US Trustee re: same (.1); Left voicemail with chambers re: second day hearing schedule (.1); Call with US Trustee re: first day orders (.6); Prepare for first day hearing (.5); Prepare for first day hearing (1.4); Email correspondence with M. Collins re: first day hearing (.1); Email correspondence with R. Jordan re: same (.1)				
Associate	Chun I. Jang	5.20 hrs.	300.00	\$1,560.00	

January 27, 2010 Invoice 349252 Page 30

Client # 707765

11/09/09	Efile certification of counsel re Trustee (.1) Coordinate deliver preparation of additional binds (.7); Efile notice of filing of pe first day hearing (.1); Serve sa (1.8); Provide C. Jang with all Provide J. Dubow with same (orders re: first day motions (.3 revised orders (.5); Create mot	ry of same to chambers (.3); Finalize bind etitions and first day me (.1); Revise order first day pleadings a .3); Meet with C. Jan); Provide C. Jang an	ers (.1); Coordinate lers for 11/10/09 hearing pleadings and notice of rs for first day hearing and all petitions filed (.3); ng and J. Finocchiaro re:	
Paralegal	Jamie E. Schairer	5.30 hrs.	195.00	\$1,033.50
11/09/09	Attend to first day binder (.8); Deliver first day binders to the court and the trustee's office (.2); Revise certifications of counsel re: first day pleadings, notice of hearings and pro hoc motions (.9); Emails re: Judge Gross being added to case and the time of the hearing (.3); Revise notice for first day pleadings (.1); Research biography of Judge Carey and write summary (1.1); Print out order for C. Jang (.1); Review first day motions (.4); Review and revise first day motions including joint administration, cash management, utilities, insurance and retention of Garden City (.8); Meet with J. Schairer and C. Jang re: first day motions (.2); Review and revise first day tax and insurance motions (.6); Final revisions of first day motions with C. Jang and gather examples for insurance motion			
Associate	(.6). Julie A. Finocchiaro	6.10 hrs.	230.00	\$1,403.00
11/09/09	Review first day motions in ac			
Director	Mark D. Collins	2.10 hrs.	675.00	\$1,417.50

January 27, 2010 Invoice 349252

Page 31

Client # 707765

11/09/09	Meeting with C. Jang re: hearing (.1): Call with R. Lemons and C. Jang re: Cocoa and R. Jordan re: same (.8); M with J. Finocchiaro re: same (.1); Cal Klauder re: same (.2); Email correspondence with U.S. Trustee (.2) hearing (.2); Email correspondence with C. Jang and J. D. Correspondence with T. Becker and Correspondence with C. Jang and R. I correspondence with C. Jang re: same (.1); Klauder and J. Leemy re: same (.6); Klauder and J. Leemy re: same (.6); F. Same (.1); Email correspondence with C. Jang re: same (.2); Meeting with C. Jang re: same (.1); Email correspondence with C. (.1); Email correspondence with D. K.	same (.3); Call value (.3); Call value (.3); Call value (.3); Call value (.3); Email correspondence with C. Jang re: same (.4); Email correspondence (.4); Preparaging re: orders for the correspondence (.4); Preparaging re: ord	with R. Lemons, M. ang re: same (.3); Call me (.1); Call with D. Lemons, R. Jordan and ondence with Court re: ame (.1); Email (.1); Email (.1); Email (.1); Email respondence with J. mons, R. Jordan, D. dence with Court re: mons and R. Jordan re: e for first day hearing or first day hearing	
Director	Paul N. Heath	6.10 hrs.	525.00	\$3,202.50
11/10/09	Confer with C. Jang re: notice of ent Schairer re: same (.2)	ry of interim ord	lers (.1); Confer with J.	
Paralegal	• •	0.30 hrs.	195.00	\$58.50
11/10/09	Prepare for first day hearing (6.9); At first day orders and final hearing re: s		s and service issues re:	
Associate	Chun I. Jang	9.20 hrs.	300.00	\$2,760.00
11/10/09	Revise first day orders for hearing (1. (.4); Finalize orders and prepare black	•	-	
Paralegal	Jamie E. Schairer	4.10 hrs.	195.00	\$799.50

January 27, 2010 Invoice 349252

Page 32

Client # 707765

11/10/09	Prepare for first day hearing and finaliz Review and revise first day pleadings (orders (1.2); Review and revise NOL o revise first day orders (1.6); Deliver NO Review and revise notices and orders for M. Wasserman re: creditor matrix (.1); creditor matrix (.1); Review and revise	(.3); Review and order with C. Ja OL orders to first day pleated and the Emails with M	d revise first day ng (.4); Review and rst day hearing (.7); adings (1.3); Call with .Wasserman re:	
Associate		3.70 hrs.	230.00	\$2,001.00
11/10/09	Preparation for and attendance at portion meetings following first day hearing re			
Director	Mark D. Collins 3	3.10 hrs.	675.00	\$2,092.50
11/10/09	Meeting with M. Collins re: hearing (.1); Call with D. Klauder re: same (.2); Meeting with C. Jang re: same (.3); Call with R. Lemons re: same (.2); Email correspondence with R. Jordan and R. Lemons re: same (.2); Preparing for hearing (3.0); Meeting with R. Jordan and R. Lemons re: hearing (.3); Email correspondence with C. Jang re: same (.2); Email correspondence with M. Collins re: same (.2); Call to Court re: same (.1); Call with Court re: same (.2); Attend hearing (.9); Email correspondence with D. Klauder re: hearing (.1)			
Director	Paul N. Heath	5.00 hrs.	525.00	\$3,150.00
11/10/09	Prepare for and assist in preparation fo	or first day hear	ing	
Associate		1.10 hrs.	245.00	\$269.50
11/11/09	Update first day hearing binder with or (.5); Provide C. Jang with updated firs (.3); Circulate first day orders to couns distribution list (.4)	t day binder (.1); Update motion chart	
Paralegal	• •	1.30 hrs.	195.00	\$253.50
11/16/09	Email correspondence with C. Jang an response	nd M. Walsh re	: reply to Ore Hill	
Director	-	0.20 hrs.	525.00	\$105.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 33

Client # 707765

11/17/09	Update motion chart	0.001	105.00	\$50.50
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/18/09	Update motion chart (.1); Draft 12/	4/09 hearing age	nda (.5)	
Paralegal	Jamie E. Schairer	0.60 hrs.	195.00	\$117.00
11/19/09	Review email from D. Klauder re:	obiection deadlir	ne for second day items	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
1100001410	Chan h vang			•
11/19/09	Email correspondence with C. Jang correspondence with R. Lemons an	•	<u> </u>	
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/20/09	Update motion chart (.2); Draft 12/		· · · · · · · · · · · · · · · · · · ·	
	binder for first day hearing of new	-	•	#C46.00
Paralegal	Jamie E. Schairer	2.80 hrs.	195.00	\$546.00
11/20/09	Email correspondence with C. Jang	g and R. Jordan r		
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
11/21/09	Email correspondence with C. Jang	re hearing		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
	 			
11/23/09	Email and phone correspondence v			
	hearing for additional petitions (.2)			
	for 11/24/09 hearing (.1); Call with Attention to preparation for 11/24/		724/09 hearing (.1),	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/23/09	Finalize binders for first day of nev			
	agenda for 11/24/09 hearing (1.5);			
	(.1); Coordinate delivery of same to 11/24/09 hearing (1.6); Revise 12/4			
Paralegal	Jamie E. Schairer	4.10 hrs.	195.00	\$799.50
				•

January 27, 2010 Invoice 349252 Page 34

Client # 707765

Conference with Z. Shapiro re: notice of first day hearing re: additional debtors (.1): Conference with Z. Shapiro and J. Madron re: same (.2)	
Lee Kaufman 0.30 hrs. 275.00	\$82.50
Meet with C. Jang re: hearing (.6); Email with C. Jang re: same (.1); Enwith R. Jordan and C. Jang re: same (.2); Review of email from J. Lean comments to motions (.2); Email with R. Lemons and R. Jordan re: US Trustee comments to motions (.2); Review of agenda (.1)	ny re:
Paul N. Heath 1.40 hrs. 525.00	\$735.00
Review correspondence from C. Jang re: delivery of first day binder for additional debtor entities (.2); Coordinate delivery of same (.2); Review revise and finalize agenda for first day hearing on additional debtor entition 11/24/09 (.4); Conference with L. Kaufman re: same (.1); Conference with J. Madron re: same (.1); Conference with C. Jang re: same (x2) (.2)	v, ities ee
Zachary I. Shapiro 1.20 hrs. 245.00	\$294.00
Assist in preparation for 11/24/09 hearing (.5); Review voicemail from court re: agenda for 11/24/09 hearing (.1); Attention to filing of additionagendas (.1)	
Chun I. Jang 0.70 hrs. 300.00	\$210.00
Finalize binders for 11/24/09 hearing (.4); Prepare order re: "me too" motion for additional Advanta entities (.4); Efile 11/24/09 hearing agenthe cases of Advanta Ventures, Advanta Credit Card Receivables, Ideal and BizEquity (.4)	
Jamie E. Schairer 1.20 hrs. 195.00	\$234.00
Email PDF document versions to R. Jordan	
Julie A. Finocchiaro 0.30 hrs. 230.00	\$69.00
Meet with C. Jang re: hearing (.3); Meet with R. Jordan re: same (.6); Prepare for hearing (.6); Attend hearing (.5); Email with R. Jordan and Lemons re: hearing (.1)	R.
Paul N. Heath 2.10 hrs. 525.00	\$1,102.50
	debtors (.1); Conference with Z. Shapiro and J. Madron re: same (.2) Lee Kaufman 0.30 hrs. 275.00 Meet with C. Jang re: hearing (.6); Email with C. Jang re: same (.1); En with R. Jordan and C. Jang re: same (.2); Review of email from J. Lean comments to motions (.2); Email with R. Lemons and R. Jordan re: US Trustee comments to motions (.2); Review of agenda (.1) Paul N. Heath 1.40 hrs. 525.00 Review correspondence from C. Jang re: delivery of first day binder for additional debtor entities (.2); Coordinate delivery of same (.2); Review revise and finalize agenda for first day hearing on additional debtor enti on 11/24/09 (.4); Conference with L. Kaufman re: same (.1); Conference with J. Madron re: same (.1); Conference with C. Jang re: same (x2) (.2) Zachary I. Shapiro 1.20 hrs. 245.00 Assist in preparation for 11/24/09 hearing (.5); Review voicemail from court re: agenda for 11/24/09 hearing (.1); Attention to filing of additionagendas (.1) Chun I. Jang 0.70 hrs. 300.00 Finalize binders for 11/24/09 hearing (.4); Prepare order re: "me too" motion for additional Advanta entities (.4); Efile 11/24/09 hearing agent the cases of Advanta Ventures, Advanta Credit Card Receivables, Ideal and BizEquity (.4) Jamie E. Schairer 1.20 hrs. 195.00 Email PDF document versions to R. Jordan Julie A. Finocchiaro 0.30 hrs. 230.00 Meet with C. Jang re: hearing (.3); Meet with R. Jordan re: same (.6); Prepare for hearing (.6); Attend hearing (.5); Email with R. Jordan and Lemons re: hearing (.1)

January 27, 2010 Invoice 349252 Page 35

Client # 707765

1/25/09	Review emails re: Committee hearing	requests for adjourn	ment of items for 12/4/09	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
1/25/09	Review of email from R. Lemo	ons re: hearing		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
1/27/09	Review emails (x5) from R. Le	emons and W. Roso	ff re: 12/4/09 hearing	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
1/27/09	Email with R. Lemons and B.	Rosoff re: hearing		
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/29/09	Review emails from R. Lemor	ns and W. Rosoff re:	12/4/09 hearing	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/30/09	Review and revise 12/4/09 age omnibus hearing dates (.1)	enda per Z. Shapiro	(.3); Call to chambers re:	
Paralegal	Ann Jerominski	0.40 hrs.	195.00	\$78.00
11/30/09	Review UST comments to sec Shapiro (.1); Discussion with Call with Z. Shapiro re: 12/4/0 same (.1); Email corresponder second day items (.1); Email of 12/4/09 hearing (.1); Review of distribute same (.4); Review of	Z. Shapiro re: agend 09 hearing (.1); Disc ace with R. Jordan re correspondence with and revise agenda fo	la for 12/4/09 hearing (.1); ussion with Z. Shapiro re: e: UST comments to R. Jordan re: agenda for r 12/4/09 hearing and	
Associate	12/4/09 hearing (.2) Chun I. Jang	1.30 hrs.	300.00	\$390.00

January 27, 2010 Invoice 349252 Page 36

Client # 707765

11/30/09	Meet with Z. Shapiro re: age Leamy re: hearing (.2); Rev Email with R. Jordan and C C. Jang re: 2015.3 motion (for 12/4/09 hearing (.1); Er	iew of email from R. Jo., Jang re: hearing (.2); .3); Email with R. Jord	ordan re: hearing (.1); Email with R. Jordan and an and C. Jang re: agenda	
To .	Jordan re: hearing (.2)	1.201	525.00	\$682.50
Director	Paul N. Heath	1.30 hrs.	525.00	\$082.30
11/30/09	Conference with C. Jang re: (.1); Conference with A. Jer Jang re: agenda for 12/4/09 Jang re: same (.1); Conference with A. Jerominski re: same for 12/4/09 hearing (.3); Corevise agenda for same in licorrespondence from C. Jan correspondence from R. Jon	rominski re: same (x2) hearing (.1); Review cance with C. Greer re: sate (x2) (.2); Review, revenference with C. Jang and the of C. Jang's comming forwarding same to the comming sa	(.2); Conference with C. orrespondence from C. time (x2) (.2); Conference ise and finalize agenda re: same (.1); Further ents (.2); Review co-counsel (.1); Review	
Associate	Zachary I. Shapiro	1.70 hrs.	245.00	\$416.50
12/01/09	Review revisions to second Learny re: same (.7); Email omnibus hearing dates (.1); revise agenda for second da orders (.1); Email correspon (.1); Discussion with Z. Sha hearing (.1); Call with J. Le co-counsel re: same (.1); En correspondence with R. Jor	correspondence with V Attention to second day by hearing (.3); Email J andence with J. Schairer apiro re: same (.1); Em eamy re: second day he mail R. Jordan re: second	Weil re: additional by orders (.3); Review and . Leamy re: second day and Z. Shapiro re: same ail R. Jordan re: 12/4/09 aring (.1); Email and day orders (.1); Email	
Associate	Chun I. Jang	2.20 hrs.	300.00	\$660.00
12/01/09	Email C. Jang, Z. Shapiro a Update motion chart (.2); P certification of counsel reseame to Z. Shapiro for reviewant to chambers (.1)	repare 12/4/09 hearing scheduling omnibus he	binder (.6); Draft aring dates (.2); Circulate	
Paralegal	Jamie E. Schairer	1.40 hrs.	195.00	\$273.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 37

Client # 707765

12/01/09	Email with C. Jang re: revise orders for hearing (.3); Email Jang re: hearing (.2); Email w C. Jang and J. Leamy re: revi Jordan re: hearing (.1)	with J. Leamy re: he with C. Jang re: hearing	aring (.2); Email with g dates (.1); Email with	C.
Director	Paul N. Heath	1.10 hrs.	525.00	\$577.50
12/01/09	Review correspondence from (.1); Correspondence to C. Ja certification of counsel re: sa Jerominski re: same (.1); Rev (.1)	ing re: same (.1); Rev me (.2); Review corre	iew, revise and finalizes pondence from A.	e
Associate	Zachary I. Shapiro	0.60 hrs.	245.00	\$147.00
12/02/09	Revise agenda for 12/4/09 he hearing binder (.1); Email co from R. Jordan re: 12/4/09 he for 12/4/09 hearing (.1); Call day orders to submit under copreparation and submission s (2.4)	-counsel re: 12/4/09 hearing (.1); Meeting v with chambers re: sa ertification of counsel	nearing (.1); Review en with Z. Shapiro re: agen me (.1); Revise second ((1.2); Attention to	nda I
Associate	Chun I. Jang	4.30 hrs.	300.00	\$1,290.00
12/02/09	Finalize 12/4/09 hearing bind Serve same (.1); Coordinate (.2); Coordinate service of or (.1); Circulate same to RLF v	delivery of 12/4/09 he der re: scheduling of	earing binder to chamb omnibus hearing dates	
Paralegal	Jamie E. Schairer	1.40 hrs.	195.00	\$273.00
12/02/09	Meet with C. Jang re: hearing Jang re: agenda (.2); Email v hearing (.2); Review of order	vith C. Jang and R. Jo		
Director	Paul N. Heath	1.10 hrs.	525.00	\$577.50
12/02/09	Review correspondence fron	n C. Jang re: revised a	ngenda for 12/4/09 hea	ring
Associate	Zachary I. Shapiro	0.10 hrs.	245.00	\$24.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 38

Client # 707765

12/03/09	Discussion with P. Heath re seco counsel/certification of no object prepare amended agenda to reflect	ion binder for sec); Prepare certification of ond day orders and	
Associate	Chun I. Jang	1.30 hrs.	300.00	\$390.00
12/03/09	Prepare binder for amended 12/4 amended hearing agenda (.4); Ef same to distribution (.1); Coordinagenda and binder re: same to ch hearing agenda (.4); Circulate sa (.1); Serve same (.1); Coordinate Circulate same to distribution (.1)	ile same (.1); Servenate delivery of 12 ambers (.2); Draftene to C. Jang for a delivery of same	re same (.1); Circulate 2/4/09 amended hearing 2 second amended 12/4/09 2 review (.1); Efile same	
Paralegal	Jamie E. Schairer	3.10 hrs.	195.00	\$604.50
12/03/09	Meet with C. Jang re: hearing (.1 amended agenda (.1); Email with); Call with court 1 J. Schairer re: an	re: hearing (.3); Review nended agenda (.1)	
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00
12/03/09	Finalize amended agenda for 12/ Schairer re: same (.1); Finalize s (.2); Review correspondence fro	econd amended ag	genda for 12/4/09 hearing	
Associate	Zachary I. Shapiro	0.60 hrs.	245.00	\$147.00
12/04/09	Call with R. Jordan re: second d Schairer re: second day orders (.		ail correspondence with J.	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/04/09	Attention to status and preparati	on for omnibus he	earing	
Director	Mark D. Collins	0.20 hrs.	675.00	\$135.00
12/09/09 Paralegal	Update motion chart Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/10/09 Paralegal	Update motion chart Jamie E. Schairer	0.10 hrs.	195.00	\$19.50

January 27, 2010 Invoice 349252 Page 39

Client # 707765

12/14/09 Director	Review of email from R. Lemons r	e: hearing 0.10 hrs.	525.00	\$52.50
Director	1 au iv. Heati	0.10 1110.		·
12/16/09	Conference with C. Jang re: draft a Correspondence to J. Schairer re: p			
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
12/17/09	Review email from V. Vron re: req Lemons re: hearing scheduling (.1) hearing (.1)	uest for hearing; Email with V.	gs (.1); Call with R. Vron re: requests for	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
12/17/00	Draft 1/5/10 hearing agenda (.8); U	Indate motion o	hart (1)	
12/17/09 Paralegal	Jamie E. Schairer	0.90 hrs.	195.00	\$175.50
1 4141.0041				
12/17/09	Review and revise agenda for 1/5/1	-	245.00	¢1.47.00
Associate	Zachary I. Shapiro	0.60 hrs.	245.00	\$147.00
12/18/09	Email with V. Vron re: scheduling	of hearings		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/18/09	Prepare 1/5/10 hearing binder			
Paralegal	Jamie E. Schairer	0.50 hrs.	195.00	\$97.50
_				
12/22/09	Review email from D. Klauder re: Vron re: 1/5/10 hearing (.1)	1/5/10 hearing	items (.1); Call with V.	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
	· ·			
12/22/09	Revise 1/5/10 hearing agenda (.1); Update motion chart (.4)	Update 1/5/10	hearing binder (.1);	
Paralegal	Jamie E. Schairer	0.60 hrs.	195.00	\$117.00
2				
12/23/09	Discussion with P. Heath re: 1/5/1 Klauder re: 1/5/10 hearing (.1)	0 hearing (.1); I	Review email from D.	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
	<u> </u>			

Jay A. Dubor, Esq.
Vice President, General Counsel and Chief Administrative Officer
Advanta Corp.
Welsh and McKean Roads
P.O. Box 844
Spring House PA 19477-0844
January 27, 2010
Invoice 349252
Page 40
Client # 707765

12/23/09	Revise 1/5/10 hearing agenda (.1); Update motion chart (.1)	(.1); Circulate same	to Z. Shapiro for review	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/23/09	Meet with C. Jang re: hearing			
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/23/09	Conference with J. Schairer re Review correspondence from			
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
12/28/09	Review 1/5/10 hearing draft a	genda		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/29/09	Review voicemail from cham and R. Lemons re: agenda for 1/5/10 hearing (.2); Email cor re: agenda for 1/5/10 hearing	1/5/10 hearing (.1); respondence with Z.	Attention to agenda for	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
12/29/09	Revise 1/5/10 hearing agenda Meeting with Z. Shapiro re: s		eron (x2) re: same (.1);	
Paralegal	Marisa C. DeCarli	0.40 hrs.	195.00	\$78.00
12/29/09	Email correspondence with C (.2); Review of agenda (.1); E (.1)			
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/29/09	Review, revise and finalize as correspondence from C. Jang Vron re: comments to same (2 Lemon re: same (.1); Correspondence from C. Jang	re: same (.1); Review (.1); Review (.1); Review control ondence to T. Came	w correspondence from V. respondence from R. ron re: same (.1); Review	
Associate	Zachary I. Shapiro	1.10 hrs.	245.00	\$269.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 41

Client # 707765

TO	OTAL DUE FOR THIS MATT	ER		\$37,271.00
TC	OTAL DUE FOR THIS INVOICE	E		\$37,271.00
		Total Fees for Profes	sional Services	\$37,271.00
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/31/09	Email correspondence with C	_		<i>Φ.</i>
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/31/09	Discussion with Z. Shapiro re with J. Depman and V. Vron			
Associate	Zachary I. Shapiro	0.70 hrs.	245.00	\$171.50
12/30/09	Review, revise and finalize 1/same (.2); Conference with T. correspondence from T. Came	Cameron re: same ((.1); Review	
Paralegal	Tracy A. Cameron	0.50 hrs.	195.00	\$97.50
12/30/09	File 1/5/10 agenda (.2); Coord Group (.1); Update 1/5/10 hea			
12/30/09 Director	Review of 1/5/10 hearing ages Paul N. Heath	nda 0.10 hrs.	525.00	\$52.50
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/30/09	Review 1/5/10 hearing agenda	1		

January 27, 2010 Invoice 349252

Page 42

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to General Corporate/Real Estate

12/18/09	Email with M. Collins and D. Bussa	rd re: fiduciary d		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/21/09	Review/reply to S. Gold et. al. email conference call with S.Gold, M. Colfiduciary duty and related issues (.7) fiduciary duty issues (.2); Review/re re: 102(b)(7) issues (.2); Confer with issues (.2)	lins, R. Silberglie ; Confer with R. ply to S.Gold and	ed and P.Heath re: Silberglied re: I R. Silberglied emails	
Director	D. A. Bussard	1.50 hrs.	700.00	\$1,050.00
12/21/09	Attend to call with M. Collins, R. Si fiduciary duty issues (.8); Email with fiduciary duty issue (.1)	lberglied, D. Bus h M. Collins and	ssard and S. Gold re: D. Bussard re: call re:	
Director	Paul N. Heath	0.90 hrs.	525.00	\$472.50
12/21/09	Conference call with S. Gold, D. Bu and fiduciary duty issues (.8); Confe with M. Collins re: same (.1); Email re: 102(b)(7) issue (.1)	rence with D. Bu	issard re: same and	
Director	Russell Silberglied	1.00 hrs.	600.00	\$600.00
12/21/09	Conference with D. Bussard (.7); Reknowing violation of law" and "intersection 102(b)(7) of the DGCL (5.5)	ntional miscondu	interpretation of "a act" in the context of	
Associate	Tiffany N. Piland	6.20 hrs.	275.00	\$1,705.00
12/22/09	Review T. Pilard email re: results of 102(b)(7) research and Disney case (.2); Email to R. Silberglied re: 102(b)(7) issue and advice to S. Gold (.2); Confer with R. Silberglied re: 102(b)(7) issues (.1)			
Director	D. A. Bussard	0.50 hrs.	700.00	\$350.00

Jay A. Dubor, Esq.
Vice President, General Counsel and Chief Administrative Officer
Advanta Corp.
Welsh and McKean Roads
P.O. Box 844
Spring House PA 19477-0844
January 27, 2010
Invoice 349252
Page 43
Client # 707765

12/22/09	Read T. Piland analysis (.1); Em Conference with D. Bussard re: Gold re: fiduciary duties (.1)	ails with D. Bussa fiduciary duty ana	ard re: same (.1); lysis (.1); Call with S.	
Director	Russell Silberglied	0.40 hrs.	600.00	\$240.00
12/29/09	Email correspondence with C. Ja	ang re: records iss	ue	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
	Tot	tal Fees for Profes	sional Services	\$4,575.00
T	OTAL DUE FOR THIS INVOICE			\$4,575.00
T	OTAL DUE FOR THIS MATTEI	R		\$4,575.00

Jay A. Dubor, Esq.
Vice President, General Counsel and Chief Administrative Officer
Advanta Corp.
Welsh and McKean Roads
P.O. Box 844
Spring House PA 19477-0844

January 27, 2010
Invoice 349252
Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Schedules/SOFA/U.S. Trustee Reports

11/08/09	E-mail correspondence with C. Jang, A. Withey and R. Jordan re: U.S. Trustee fee			
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/09/09	Email correspondence with C. Jang reporting requirement	and R. Jordan an	d R. Lemon re:	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/10/09	Call with J. Heck, J. O'Malley, J. La requirements	bovitz and A. Pr	ete re: reporting	
Director	Paul N. Heath	0.50 hrs.	525.00	\$262.50
11/11/09	Call with Alavarez re: reporting req	uirements		
Associate	Chun I. Jang	0.60 hrs.	300.00	\$180.00
11/12/09	Email correspondence with C. Jang	re: schedules and	i SOFAs	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
11/13/09	Review motion to extend time to fil	e schedules and s	statements	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
11/13/09	Draft notice of motion to extend tim	ne to file schedule	es and statements	
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00
11/13/09	Email correspondence with R. Jordan and C. Jang re: 2015.3 reporting issue (.2); Review of motion to extend time to file schedules and SOFA's for filing (.2); Email correspondence with R. Jordan and C. Jang re: schedule filing extension motion (.1); Email correspondence with C. Jang and A. Withey re: 2015.3 report (.1)			
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 45

Client # 707765

11/13/09	Review and revise motion to (.7); Conference with C. Jang		hedules and statement	S
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
11/15/09	Review and revise motion to and related notice of filing of		hedules and statement	es
Associate	Zachary I. Shapiro	0.80 hrs.	245.00	\$196.00
1/16/09	Review motion to extend dea Email correspondence with R		• • •	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
11/16/09	Efile motion to extend deadling same (.1)	ne to file schedules a	nd statements (.2); Sen	rve
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/16/09	Review and revise motion to and related notice of filing of (x3) (.3); Coordinate filing an	same (.6); Conference	ce with C. Jang re: san	
Associate	Zachary I. Shapiro	1.10 hrs.	245.00	\$269.50
11/18/09	Email correspondence with C	. Jang re: initial oper	ating report	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/19/09	Email R. Jordan re: 2015.3 re correspondence with D. Griff Review email from R. Jordan	iths re: 2015.3 report	ting requirements (.2);	
Associate	Chun I. Jang	0.40 hrs.	300.00	\$120.00
11/19/09	Preparation for and attendanc Richards, Layton & Finger	e at formation meeting	ng, including meeting	at
Director	Mark D. Collins	4.60 hrs.	675.00	\$3,105.00
11/20/09	Call with C. Jang, M. West, I issues	R. Jordan, P. Brown,	J. Dubow re: reporting	3
Director	Paul N. Heath	0.90 hrs.	525.00	\$472.50

January 27, 2010 Invoice 349252 Page 46

Client # 707765

11/23/09	Call with M. Boyle and A. Sag monthly operating report (.2); or revised monthly operating report	Call with M. Boyle:	ng report (.1); Review re: same (.1); Review	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/23/09	Email C. Jang re: initial reporting requirements (.2); Coordinate of	ing requirements (.1 delivery of same to); Efile initial reporting U.S. Trustee (.2)	
Paralegal	Jamie E. Schairer	0.50 hrs.	195.00	\$97.50
11/23/09	Meet with C. Jang re: initial op operating report (.2)	perating report (.1);	Review of initial	
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/23/09	Review correspondence from ((.1); Review same (.2); Confer Coordinate filing and service of Schairer re: deadline to submit Conference with C. Jang re: sa	ence with C. Jang roof same (.1); Review disclosures to Unit	e: same (x2) (.2); v correspondence from J	ī .
Associate	Zachary I. Shapiro	0.80 hrs.	245.00	\$196.00
11/24/09	Draft affidavit of service re: in (.1)	itial reporting requi	rements (.3); Efile same	:
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00
11/24/09	Email with D. Griffiths re: 201	5.3 reporting exten	sion motion	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/24/09	Review correspondence from . States Trustee (.1); Conference			
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 47

Client # 707765

Review 2015.3 extension motion (.3); Email corresponsame (.2); Discussion with P. Heath remonthly operate correspondence with A. Sagat and R. Jordan re: same Ravitch re: same (.1); Call with C. Ravitch re: same (.1) and R. Jordan re: same (.1) Associate Chun I. Jang 1.00 hrs. Email with C. Jang re: monthly operating report issue	ting reports (.1); Email (.1); Call with C. 1); Email A. Sagat	\$300.00
Associate Chun I. Jang 1.00 hrs.		\$300.00
11/25/00 Email with C. long re: monthly operating report issue	(.1); Meet with C.	
11/25/09 Email with C. Jang re: monthly operating report issue Jang re: same (.1)		
Director Paul N. Heath 0.20 hrs.	525.00	\$105.00
Review correspondence from C. Jang re: initial operation Conference with C. Jang re: initial operating report (Greer re: same (.1); Conference with J. Madron re: same Conference with M. DeCarli re: same (x2) (.1); Reviews same (1.1); Draft, revise and finalize letter to UST re: with C. Jang re: same (x3) (.3); Further revise letter respondence with C. Jang re: same (x2) (.2); Conference with C. Jang re: same (x2) (.2); Conference with A. Jerominski re: same (x2) (.2); Conference with A. Jerominski re: same (x2) (.2); Conference with C. Jang re: same (x2) (.2); Conference with A. Jerominski re: same (x2) (.2); Conference with C. Jang re: same (x2) (.2); Conference with C	1); Conference with C. me (x2) (.2); we same and binder of same (.3); Conference e: same in light of C. me (x2)(.2);	
Associate Zachary I. Shapiro 3.10 hrs.	245.00	\$759.50
11/30/09 Call with J. Learny re: motion to extend deadline to fi Email correspondence with R. Jordan re: 2015.3 repo	ile 2015.3 reports (.1); orts (.1)	
Associate Chun I. Jang 0.20 hrs.	300.00	\$60.00
12/01/09 Review email from D. Griffiths re: 2015.3 extension	motion	
Associate Chun I. Jang 0.10 hrs.	300.00	\$30.00
12/01/09 Email with C. Jang and R. Jordan re: 2015.3 motion Director Paul N. Heath 0.10 hrs.	525.00	\$52.50
12/01/09 Review and revise order approving motion to extend and statements	time to file schedules	
Associate Zachary I. Shapiro 0.30 hrs.	245.00	\$73.50

January 27, 2010 Invoice 349252

Page 48

Client # 707765

12/02/09	Review and revise order for ex	tension to file sched	lules and statements	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/02/09	Revise certification of counsel statements (.2); Finalize and ef		to file schedules and	
Paralegal	Janel Gates	0.40 hrs.	195.00	\$78.00
12/02/09	Review, revise and finalize ord and statements and related cert with C. Jang re: same (.1)			
Associate	Zachary I. Shapiro	0.50 hrs.	245.00	\$122.50
12/03/09	Draft notice of motion to exter (.2); Serve same (.1); Circulate	nd time to file 2015. e same to distributio	3 reports (.5); Efile same in (.1)	
Paralegal	Jamie E. Schairer	0.90 hrs.	195.00	\$175.50
12/03/09	Coordinate service of order reand statements and circulate sa		eadlines to file schedules	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/03/09	Review correspondence from 2015.3 reports (.1); Review, resame (.6); Conference with J.	evise and finalize sa	me and notice of filing of	
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
12/04/09	Review of 2015.3 reporting m	otion for filing		
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/11/09	Email correspondence with A	. Sagat re: reporting	requirements	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/11/09	Email with A. Sagat, R. Jorda (.1); Email with M. West re: r Thorne, M. Caloway, R. Ches (.1)	eporting requiremen	nts (.1); Email to D.	
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010

Invoice 349252

Page 49

Client # 707765

12/17/09	Email with A. Sagat re: monthly	***		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/17/09	Email with A. Sagat re: monthly	operating reports		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/22/09	Attend conference call re: monthlere: 2015.3 reports (.2); Review er		•	
Associate	Chun I. Jang	1.20 hrs.	300.00	\$360.00
12/23/09	Attend conference call re: month	ly operating repor	rt .	
Associate	Chun I. Jang	0.70 hrs.	300.00	\$210.00
12/24/09	Email correspondence with V. Vi with M. Boyle re: same (.2)	ron re: monthly o	perating report (.2); Call	
Associate	Chun I. Jang	0.40 hrs.	300.00	\$120.00
12/29/09	Review emails from M. Boyle an	id J. Sogot re: mo	nthly operating reports	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/30/09	Review email from M. Boyle re: emails from M. Boyle and J. Sog correspondence with V. Vron re:	ot re: monthly op	erating reports (.1); Email	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
12/30/09	Email correspondence with C. Ja	ng re: monthly or	perating reports	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/30/09	Review correspondence from C. November 2009 (x2) (.1); Confe			
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
12/31/09	Assemble November monthly op same (.1)	perating report (.2)); File same (.2); Serve	
Paralegal	Cathy M. Greer	0.50 hrs.	195.00	\$97.50

Advanta Corp. Page 50 Welsh and McKean Roads Client # 707765 P.O. Box 844 Spring House PA 19477-0844 Matter # 167839 12/31/09 Email correspondence with J. Sogot re: monthly operating reports (.1); Email correspondence with C. Greer re: monthly operating reports (.1); Review emails from Z. Shapiro and J. Sogot re: monthly operating reports (.1)\$90.00 300.00 Chun I. Jang 0.30 hrs. Associate Conference with C. Jang re: filing of November 2009 monthly operating 12/31/09 report (.1); Review correspondence from C. Jang re: same (x2) (.1); Review correspondence from J. Sagot re: same (x3) (.2); Review, revise and finalize November 2009 monthly operating report (.3); Conference with C. Greer re: filing and service of same (.2); Correspondence to Weil team re: confirmation of service and filing of November 2009 monthly operating report (.1) \$245.00 245.00 Zachary I. Shapiro 1.00 hrs. Associate \$10,271.00 Total Fees for Professional Services

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

TOTAL DUE FOR THIS INVOICE

TOTAL DUE FOR THIS MATTER

January 27, 2010

\$10,271.00

\$10,271.00

Invoice 349252

January 27, 2010 Invoice 349252 Page 51

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Employee Issues

11/08/09	Efile employee wage motion			
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/09/09	Email correspondence with R. Jorda			
	issue (.2); Email correspondence with R			
	(.2); Email correspondence with R. Correspondence with D. Klauder and	l C I and res severar	rance issue (.1), Ellian	
Director	Paul N. Heath	0.70 hrs.	525.00	\$367.50
Director	rauriv. Heath	0.70 ms.	323.00	Ψ507.50
11/10/09	Draft notice of entry of interim order	r re: employee wa	age order (.7);	
	Circulate same to J. Finocchiaro for			
	(.1)			
Paralegal	Jamie E. Schairer	1.10 hrs.	195.00	\$214.50
11/18/09	Email correspondence with A. Sagar	*		
	employee issue (.2); Call with A. Sa			
	re: employee issue (.6); Email corres re: employee issue (.1)	spondence with A	t. Sagat and K. Jordan	
Director	Paul N. Heath	0.90 hrs.	525.00	\$472.50
Director	i ani iv. livani	0.70 143.		<i>4</i>
11/25/09	Review of email from A. Sagat re: s	everance issue		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/30/09	Email with A. Sagat and R. Jordan r			
	severance issue (.4); Email with C.	Jang and R. Lemo	ons re: wage order (.1);	
	Email with R. Jordan and A. Sagat I			# 400 OO
Director	Paul N. Heath	0.80 hrs.	525.00	\$420.00
12/01/09	Emails with R. Jordan and D. Sagat	re: geverance cal	1	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
Duccioi	i aui iv. licaui	0.20 1113.	JadeUV	Ψ105.00

January 27, 2010 Invoice 349252 Page 52

Client # 707765

			· · · · · · · · · · · · · · · · · · ·	
12/01/09	Review of email from A. S	Sagat re: severance issue		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
12/04/09	Call with R. Jordan re: ES	OP plan issues		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/04/09	Email with C. Jang and R. re: ESOP issue (.1)	Jordan re: ESOP issue (.2); Meeting with C. J	ang
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
12/18/09	Call with Pennsylvania Ur	nemployment Division		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
		Total Fees for Profess	sional Services	\$1,941.00
ТО	TAL DUE FOR THIS INVO	DICE		\$1,941.00
то	TAL DUE FOR THIS MA	TTER		\$1,941.00

January 27, 2010 Invoice 349252

Page 53

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Tax Issues

11/08/09	Efile NOL motion			
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/09/09	Discussion with Z. Shapiro re: NOL	order (.1); Revie	w NOL order (.4)	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/09/09	Draft, review and revise interim NO	L order		
Associate	Zachary I. Shapiro	1.70 hrs.	245.00	\$416.50
11/10/09	Draft notice of entry of interim orde J. Finocchiaro for review (.1); Efile	r re: NOL Order same (.3); Serve	(.9); Circulate same to same (.1)	
Paralegal	Jamie E. Schairer	1.40 hrs.	195.00	\$273.00
11/10/09	Coordinate service of tax order			
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/10/09	Meeting with M. Collins re: NOL m R. Lemons re: NOL motion (.2); Re	otion (.2); Email search re: NOL n	correspondence with notion (.6)	
Director	Paul N. Heath	1.00 hrs.	525.00	\$525.00
11/11/09	Discussion with P. Heath re NOL m same (.1); Attention to same (.2); Re			
Associate	Chun I. Jang	0.70 hrs.	300.00	\$210.00
11/11/09	Coordinate service of notice of entry service parties	y of interim NOL	order on special	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/11/09	Conference with Z. Shapiro re: NO	L motion		
Associate	L. Katherine Good	0.10 hrs.	275.00	\$27.50

January 27, 2010 Invoice 349252 Page 54

Client # 707765

11/11/09	Research re: service of NOL m with C. Jang re: same (.2)	notion in prior cases	(1.1); Correspondence	
Associate	Zachary I. Shapiro	1.30 hrs.	245.00	\$318.50
11/23/09	Email with R. Lemons re: NO	L motion		
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/23/09	Review correspondence from (1.1); Review correspondence f			on
Associate	Zachary I. Shapiro	0.20 hrs.	245.00	\$49.00
11/24/09	Conference with Z. Ivan Shapi	iro re: NOL issues		
Associate	Lee Kaufman	0.10 hrs.	275.00	\$27.50
12/23/09	Review and forward email from information (.1); Email corresponding Dept. of Labor re: payro	pondence with J. Ale		
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
	Т	Total Fees for Profes	sional Services	\$2,246.00
ТО	TAL DUE FOR THIS INVOICE	E	-	\$2,246.00
ТО	TAL DUE FOR THIS MATT	ER	-	\$2,246.00

January 27, 2010 Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer Invoice 349252 Advanta Corp. Page 55 Welsh and McKean Roads Client # 707765 P.O. Box 844 Spring House PA 19477-0844 Matter # 167839 For services through December 31, 2009 relating to Litigation/Adversary Proceedings Review and forward email from FDIC re: temporary restraining order 12/28/09 300.00 \$30.00 0.10 hrs. Associate Chun I. Jang \$30.00 Total Fees for Professional Services \$30.00 TOTAL DUE FOR THIS INVOICE

TOTAL DUE FOR THIS MATTER

\$30.00

Jay A. Dubor, Esq.
Vice President, General Counsel and Chief Administrative Officer
Advanta Corp.
Welsh and McKean Roads
P.O. Box 844
Spring House PA 19477-0844
January 27, 2010
Invoice 349252
Page 56
Client # 707765

Matter # 167839

For services through December 31, 2009 relating to RLF Retention

11/09/09	Meeting with C. Jang re: retention is	ssue		
Director	Paul N. Heath	0.10 hrs.	525,00	\$52.50
11/09/09	Draft and revise RL&F's retention a	pplication		
Associate	Zachary I. Shapiro	3.10 hrs.	245.00	\$759.50
11/11/09	Revise RL&F's retention application	า		
Associate	Zachary I. Shapiro	1.10 hrs.	245.00	\$269.50
1100001410				
11/13/09	Email Z. Shapiro re RLF retention a	- -		*
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/13/09	Email correspondence with C. Jang	and Z. Shapiro r	e: retention application	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/15/09	Review and revise RLF's retention a			m com 00
Associate	Zachary I. Shapiro	2.60 hrs.	245.00	\$637.00
11/16/09	Assist with preparation of RLF rete	ntion application	(.4); Coordinate	
11, 10, 0	service of same (.1)			
Paralegal	Cathy M. Greer	0.50 hrs.	195.00	\$97.50
11/16/09	Review and revise RLF retention ap	mlication		
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
Associate	Chull I. Jang	0.50 ms.	500.00	Ψ,0.00
11/16/09	Discussion with Z. Shapiro re: RLF	retention applica	ation	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
1111600	with the state of	1 . 60: 1		
11/16/09	Work on RLF retention application Mark D. Collins	and affidavit	675.00	\$472.50
Director	Mark D. Comms	0.70 1115.	073.00	ψτ/2.50

January 27, 2010 Invoice 349252 Page 57

Client # 707765

11/16/09	Attention to RLF's retention ap	oplication (.3); Conf	erence with Z. Shapiro re:	
Associate	Michael W. Romanczuk	0.40 hrs.	280.00	\$112.00
11/16/09	Email correspondence with C. application (.1); Review of RL	Jang and R. Jordan F retention applicat	re: RLF Retention ion for filing (.4)	
Director	Paul N. Heath	0.50 hrs.	525.00	\$262.50
11/16/09	Review, revise and finalize ret Jang re: same (.1); Conference with M. Romanczuk re: same same and draft and finalize no Jang re: same (.2); Coordinate	with M. Collins re: (.2); Revise retention tice of filing of same	same (x) (.3); Conference n application in light of	
Associate	Zachary I. Shapiro	2.70 hrs.	245.00	\$661.50
11/17/09	Conference with M. Collins re	: status of retention	application and related	
Associate	Zachary I. Shapiro	0.10 hrs.	245.00	\$24.50
11/30/09	Review correspondence from to RL&F retention application	C. Jang re: United S (.1); Conference wi	tates Trustee's comments ith C. Jang re: same (.1)	
Associate	Zachary I. Shapiro	0.20 hrs.	245.00	\$49.00
12/01/09	Meeting with Z. Shapiro re: coapplication (.1); Draft certification of counsel	ation of counsel re: s	same (.2); Review and	
Associate	Andrew C. Irgens	0.40 hrs.	230.00	\$92.00
12/01/09	Attention to U.S. Trustee ques	stions re: RLF retent 0.30 hrs.	ion 300.00	\$90.00
Associate	Chun I. Jang	v.sv ins.	200.00	Ψ/0.00
12/01/09	Draft certification of no objec Circulate same to C. Jang for	review (.1)		
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads

P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 58

Client # 707765

T	OTAL DUE FOR THIS MATT	ER		\$4,446.00
TO	OTAL DUE FOR THIS INVOICE	3		\$4,446.00
]	Total Fees for Profes	sional Services	\$4,446.00
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
12/03/09	Efile certification of counsel r service of order re: RLF's rete distribution (.1)	ntion application and	d circulate same to	¢20.00
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
12/03/09	Email correspondence with J. Prepare form of order and cert	Leamy re: RLF reter ification of counsel	ntion application (.1); re: same (.2)	
Associate	Zachary I. Shapiro	0.40 hrs.	245.00	\$98.00
12/02/09	Review, revise and finalize or of no objection (.3); Conference	der re: RLF retention ce with C. Jang re: s	and related certification ame (.1)	
Paralegal	Jamie E. Schairer	0.40 hrs.	195.00	\$78.00
12/02/09	Review and revise order re: R	LF's retention applic	ation	
Associate	same (.1) Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/02/09	Call with J. Leamy re: RLF ret	ention (.1); Discussi	ion with P. Heath re:	
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
12/01/09	Conference with C. Jang re: R. U.S. Trustee re: same (x3) (.3) (.2); Conference with C. Jang & Kenton re: same (.2)	; Conference with M	I. Romanczuk re: same	

Jay A. Dubor, Esq.
Vice President, General Counsel and Chief Administrative Officer
Advanta Corp.
Welsh and McKean Roads
P.O. Box 844
Spring House PA 19477-0844
January 27, 2010
Invoice 349252
Page 59
Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Retention of Others

11/08/09	Efile retention application of The Ga	arden City Group	, Inc.	
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
11/10/09	Coordinate service of The Garden C	ity Group, Inc.'s 1	retention order	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/11/09	Call with A. Rosen re OCP retention Jordan re OCP motion (.1)	ı (.2); Email corre	espondence with R.	
Associate	Chun I. Jang	0.30 hrs.	300.00	\$90.00
11/13/09	Review interim compensation proceinterim compensation procedures mo	dures motion (.4) otion (.1)); Review revised	
Associate	Chun I. Jang	0.50 hrs.	300.00	\$150.00
11/16/09	Review interim compensation proce	dures motion		
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
11/17/09	Efile and serve Weil Gotshal retention	on application		
Paralegal	Aja E. McDowell	0.20 hrs.	195.00	\$39.00
11/17/09	Call with D. Griffiths re Weil retent	ion application		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/17/09	Draft notice of WGM's retention app	plication		
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/17/09	Call with J. McMahon re: retention D. Griffiths and C. Jang re: Weil Re Retention Application for filing (.4)	tention Applicati		
Director	Paul N. Heath	0.70 hrs.	525.00	\$367.50

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 60

Client # 707765

11/17/09	Conference with C. Jang re: Weil's re Conference with J. Schairer re: same McDowell re: filing of same (.1); Rev retention application and related notic correspondence from A. McDowell re Correspondence with A. McDowell re	(x2) (.1); Corview, revise a se of filing of e: service of s	nference with A. nd finalize Weil's same (.3); Review	
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
11/18/09	Call with D. Griffiths re: Alvarez reteretention application (.2); Discussion (.1); Email correspondence with Wei D. Feigenbaum re: same (.3); Review Heath re: same (.1); Email correspond Discussion with Z. Shapiro re: OCP in	with P. Heath l and Alvarez OCP motion dence with W	h re: Alvarez retention re: same (.1); Call with 1 (.3); Discussion with P.	
Associate	Chun I. Jang	1.40 hrs.	300.00	\$420.00
11/18/09	Meeting with C. Jang re: Alvarez Ret C. Jang re: retention issue (.2); call w Blackstone Retention issue (.3); meet (.2); research re: retention issue (.6); Jordan and D. Griffiths re: retention is application (.3); Email correspondent ordinary course professional issue (.2)	rith C. Jang auting with C. J Email corresp ssue (.2); rev ce with C. Jar	nd D. Feigenbaum re: ang re: retention issue condence with C. Jang, R. iew of Alvarez retention	
Director	Paul N. Heath	2.10 hrs.	525.00	\$1,102.50
11/18/09	Finalize and file ordinary course mot retention application (.1); Coordinate	ion (.2); Fina service of sa	lize and file Alvarez ime (.1)	
Paralegal	Rebecca V. Speaker	0.40 hrs.	195.00	\$78.00
11/18/09	Review, revise and finalize Alvarez of filing of same (.6); Conference with C. Jang re: sam	th R. Speaker	ication and related notice re: same (.1); Review	
Associate	Zachary I. Shapiro	0.80 hrs.	245.00	\$196.00

January 27, 2010 Invoice 349252 Page 61

Client # 707765

11/18/09	Conference with C. Jang re: Review, revise and finalize of	rdinary course profes	sionals motion and	
	related notice of filing of san		ing of same (.1)	
Associate	Zachary I. Shapiro	0.80 hrs.	245.00	\$196.00
11/24/09	Email correspondence with V correspondence with D. Grif		tion (.1); Email	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
11/24/09	Email with R. Jordan, R. Ler	nons and C. Jang re:	retention issues	
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/25/09	Email correspondence with I	D. Griffiths re: Alvare	z retention	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
11/30/09	Retrieve and forward Alvare	z retention applicatio	n to Z. Shapiro per requ	est
Paralegal	Ann Jerominski	0.20 hrs.	195.00	\$39.00
11/30/09	Review revised Alvarez rete Griffiths re: same	ntion order and email	correspondence with D).
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
11/30/09	Email with R. Jordan and R.	Lemons re: retention	issues	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
11/30/09	Review correspondence from application (.1); Conference Correspondence to D. Griffi	with A. Jerominski re		
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
12/01/09	Meeting with Z. Shapiro re: application (.1); Draft certifirevise same (.1)			
Associate	Andrew C. Irgens	0.40 hrs.	230.00	\$92.00

January 27, 2010 Invoice 349252

Page 62

Client # 707765

12/01/09	Review and revise order app counsel (.8); Review and revapplication and related certifapproving A&M's retention (.5)	rise order approving Wication of counsel (.5)	Veil's retention ; Review and revise order	
Associate	Zachary I. Shapiro	1.80 hrs.	245.00	\$441.00
12/02/09	Review and revise order re: revise order re: A & M's rete re: OCP motion (.2)			
Paralegal	Jamie E. Schairer	0.70 hrs.	195.00	\$136.50
12/02/09	Revise certification of couns (.2); Revise certification of a Finalize and effle same (.2); & M's retention application re: interim compensation management	counsel re: Weil's rete Finalize and efile cert (.2); Finalize and efil	ention application (.2); dification of counsel re: A	
Paralegal	Janel Gates	1.20 hrs.	195.00	\$234.00
12/02/09	Review email from D. Griff Review of email from R. Jo			
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/02/09	Review, revise and finalize of counsel (.4); Conference finalize order re: Weil reten Conference with C. Jang re: approving A&M's retention (.3); Conference with C. Jar	with C. Jang re: same tion and related certifi same (.1); Review, re and related certification	(.1); Review, revise and cation of counsel (.3); evise and finalize order	
Associate	Zachary I. Shapiro		245.00	\$318.50
12/03/09	Coordinate service of order distribution (.1); Coordinate and circulate same to distribution application and circulate same to distribution application and circulate same to distribution and circulate same to distribute sa	e service of order re: Voution (.1); Coordinate	Veil's retention application service of order re: A &	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50

January 27, 2010 Invoice 349252 Page 63

Client # 707765

12/09/09	Phone call with C. Jang re: KPMC revise same (.3); Email with R. Jor re: same (.1); Phone call with R. A (.1); Finalize notice, exhibits and a	rdan and C. Jang Acantar re: same	g re: 2016 requirements (.1); Draft notice of same	
Associate	Andrew C. Irgens	0.90 hrs.	230.00	\$207.00
12/09/09	Phone call with C. Jang re: KPMC	retention appli	cation	
Associate	Andrew C. Irgens	0.10 hrs.	230.00	\$23.00
12/09/09	Review KPMG retention application Jordan re: same (.1); Call with A. re: same (.1); Email correspondence with A. Irgens re:	Irgens re: same of ce with R. Jorda	(.1); Call with J. Alcantar	
Associate	Chun I. Jang	0.80 hrs.	300.00	\$240.00
12/09/09	Efile KPMG's retention application	on (.2); Serve sar	me (.1)	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/09/09	Review of KPMG retention applicates Jang re: KPMG retention applicates		l with R. Jordan and C.	
Director	Paul N. Heath	0.60 hrs.	525.00	\$315.00
12/13/09	Email with C. Jang re: KPMG ret	ention application	on	
Director	Paul N. Heath	0.40 hrs.	525.00	\$210.00
12/15/09 Associate	Email Weil re: KPMG retention Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/15/09	Email with R. Jordan, R. Lemons application	and C. Jang re:	KPMG retention	
Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/16/09	Review correspondence from C. Correspondence to C. Jang re: sar	Jang re: filing of me (.1); Review	OCP affidavit (.1); same (.1)	
Associate	Zachary I. Shapiro	0.30 hrs.	245.00	\$73.50
				· ·

January 27, 2010 Invoice 349252 Page 64 Client # 707765

TO	TAL DUE FOR THIS MATT	ER		\$6,785.50
TC	TAL DUE FOR THIS INVOICE	3		\$6,785.50
	Т	Total Fees for Profes	sional Services	\$6,785.50
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
12/23/09	Circulate FTI Consulting's rete	ention application to	distribution	
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/23/09	Email V. Vron re: U.S.Trustee	o's comments to KPN	MG retention	
12/22/09 Director	Paul N. Heath	0.20 hrs.	525.00	\$105.00
_	Email with D. Klauder re: rete	ntion icous		
Paralegal	Drinker Biddle & Reath and T Jamie E. Schairer	he Garden City Gro 0.30 hrs.	up to distribution 195.00	\$58.50
12/22/09	Circulate as filed versions of re	etention applications	s Latham & Watkins,	
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
12/21/09	Review of committee retention Garden City	application for Lat	ham, FTI, Drinker and	
Associate	Zachary I. Shapiro	0.40 hrs.	245.00	\$98.00
12/17/09	Review correspondence from 6 behalf of Cozen O'Connor (.1) Conference with C. Greer re: s	; Review OCP affid	avit of same (.2);	
Paralegal	Cathy M. Greer	0.30 hrs.	195.00	\$58.50
12/17/09	File affidavit and disclosure sta O'Connor (.2); Coordinate serv	vice of same (.1)		

January 27, 2010 Invoice 349252 Page 65

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to RLF Fee Applications

2 0 2000				
12/10/09	Draft shell for RLF's month Accounting (.1); Draft noti			
Paralegal	Jamie E. Schairer	1.00 hrs.	195.00	\$195.00
12/15/09	Update meal chart (.6); Re-	view bill memorandum ((2.1)	
Paralegal	Jamie E. Schairer	2.70 hrs.	195.00	\$526.50
12/16/09	Update meal chart			
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/29/09	Review 1st monthly applic (1); Revise Notice re: same (.1); Revise notice (.1); Re 1st monthly application of	e (.1); Circulate same to view 1st monthly applic	Z. Shapiro for review	
Paralegal	Tracy A. Cameron	2.50 hrs.	195.00	\$487.50
12/29/09	Review, revise and finalize Conference with T. Camer compensation order re: pro applications (.1); Correspo	on re: same (x2)(.2); Re ocedures for filing of firs	view interim t monthly fee	
Associate	Zachary I. Shapiro	0.90 hrs.	245.00	\$220.50
		Total Fees for Profess	sional Services	\$1,488.00
TC	OTAL DUE FOR THIS INVO	DICE		\$1,488.00
TO	OTAL DUE FOR THIS MA	TTER		\$1,488.00

Jay A. Dubor, Esq.

Vice President, General Counsel and Chief Administrative Officer

Advanta Corp.

Welsh and McKean Roads
P.O. Box 844

Spring House PA 19477-0844

January 27, 2010
Invoice 349252

Page 66

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Fee Applications of Others

11/12/09	Email correspondence with C. Jang a	and J. Genesh re:	interim compensation	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/13/09	Draft notice of motion re: interim co	mpensation proce	edures	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/13/09	Email correspondence with C. Jang a motion (.1); Review of interim comp			
Director	Paul N. Heath	0.30 hrs.	525.00	\$157.50
11/15/09	Review and revise interim compensa	ntion motion and	notice of filing of	
Associate	Zachary I. Shapiro	0.70 hrs.	245.00	\$171.50
11/16/09	Efile interim compensation motion (.2); Serve same ((.1)	
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
11/16/09	Email correspondence with R. Jorda	n and C. Jang re:	interim comp motion	
Director	Paul N. Heath	0.10 hrs.	525.00	\$52.50
11/16/09	Review, revise and finalize interim of related notice of filing of same (.4); Revise same in light of C. Jang's con (.2)	Conference with	C. Jang re: same (.1);	
Associate	Zachary I. Shapiro	1.00 hrs.	245.00	\$245.00
12/01/09	Draft certification of no objection re Circulate same to C. Jang for review		nsation motion (.4);	
Paralegal	Jamie E. Schairer	0.50 hrs.	195.00	\$97.50

January 27, 2010 Invoice 349252 Page 67 Client # 707765

12/02/09	Review and revise interim compe	ensation order		
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/03/09	Coordinate service of interim cordistribution	mpensation order	and circulate same to	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
12/04/09	Meet with P. Heath re: fee exami examiner (.1)	ner (.1); Discussi	on with M. Collins re: fee	
Associate	Chun I. Jang	0.20 hrs.	300.00	\$60.00
12/04/09 Director	Meet with C. Jang re: fee examing Paul N. Heath	ner 0.10 hrs.	525.00	\$52.50
12/10/09 Paralegal	Draft shell for monthly fee applic Jamie E. Schairer	cations 0.60 hrs.	195.00	\$117.00
12/21/09 Director	Email with court re: fee auditor Paul N. Heath	0.20 hrs.	525.00	\$105.00
12/29/09 Associate	Review email from J. Ganesh re: Chun I. Jang	Garden City invo 0.10 hrs.	oice 300.00	\$30.00
	Tot	al Fees for Profes	ssional Services	\$1,336.00
TO	OTAL DUE FOR THIS INVOICE			\$1,336.00
T	OTAL DUE FOR THIS MATTER	₹		\$1,336.00

January 27, 2010 Invoice 349252 Page 68

Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Utilities

11/08/09 Paralegal	Efile utilities motion Jamie E. Schairer	0.20 hrs.	195.00	\$39.00	
11/10/09 Paralegal	Review utility notice Aja E. McDowell	0.10 hrs.	195.00	\$19.50	
11/10/09	Draft notice of entry of interim order to J. Finocchiaro for review (.1); Efi				
Paralegal	Jamie E. Schairer	1.20 hrs.	195.00	\$234.00	
11/20/09	Email correspondence with J. Ganes	sh re: utility depo	sit account		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00	
11/20/09	Meetings (x2) with C. Jang re: utility issue (.4); Email correspondence with C. Jang re: utility issue (.1); Email correspondence with C. Jang and A. Sagat re: same (.1); Email correspondence with R. Jordan, A. Sagat and C. Jang re: same (.1)				
Director	Paul N. Heath	0.70 hrs.	525.00	\$367.50	
11/23/09	Circulate PECO's objection to utiliti			040.50	
Paralegal	Jamie E. Schairer	0.10 hrs.	195.00	\$19.50	
11/23/09 Director	Review of PECO objection to utility Paul N. Heath	motion 0.20 hrs.	525.00	\$105.00	
11/25/09 Director	Call with H. Cohen re: utility issue Paul N. Heath	0.10 hrs.	525.00	\$52.50	
11/30/09 Associate	Review agreement with PECO re: ac Chun I. Jang	dequate assurance 0.10 hrs.	e 300.00	\$30.00	

January 27, 2010 Invoice 349252 Page 69

Client # 707765

12/01/09	Review email from J. Ganesh			
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/02/09	Attention to final utilities orde			
Associate	Chun I. Jang	0.40 hrs.	300.00	\$120.00
12/02/09	Review and revise utilities ord			
Paralegal	Jamie E. Schairer	0.30 hrs.	195.00	\$58.50
12/02/09	Review final utilities order (.5) re: same (.4); Conference with			
Associate	Zachary I. Shapiro	1.10 hrs.	245.00	\$269.50
12/03/09	Review certification of counse	el re: utilities order		
Associate	Chun I. Jang	0.10 hrs.	300.00	\$30.00
12/03/09	Efile certification of counsel reutilities order and circulate sar			
Paralegal	Jamie E. Schairer	0.20 hrs.	195.00	\$39.00
			_	
	Τ	Cotal Fees for Profes	sional Services	\$1,444.00
TO	TAL DUE FOR THIS INVOICE	Ē		\$1,444.00
то	TAL DUE FOR THIS MATT	ER		\$1,444.00

January 27, 2010 Invoice 349252 Page 70 Client # 707765

Matter # 167839

For services through December 31, 2009 relating to Insurance

11/10/09 Paralegal	Coordinate service of insurance Jamie E. Schairer	0.10 hrs.	195.00	\$19.50
11/08/09 Paralegal	Efile insurance motion Jamie E. Schairer	0.20 hrs.	195.00	\$39.00

January 27, 2010 Invoice 349252 Page 71 Client # 707765

	Summary of Hours		
	Hours	Rate/Hr	Dollars
Aja E. McDowell	0.60	195.00	117.00
Andrew C. Irgens	1.80	230.00	414.00
Ann Jerominski	1.10	195.00	214.50
Barbara J. Witters	4.50	195.00	877.50
Brenda D. Tobin	4.20	100.00	420.00
Cathy M. Greer	2.50	195.00	487.50
Chun I. Jang	71.40	300.00	21,420.00
D. A. Bussard	2.00	700.00	1,400.00
Jamie E. Schairer	67.30	195.00	13,123.50
Janel Gates	1.60	195.00	312.00
Julie A. Finocchiaro	21.80	230.00	5,014.00
L. Katherine Good	0.10	275.00	27.50
Lee Kaufman	0.40	275.00	110.00
Marisa C. DeCarli	1.00	195.00	195.00
Mark D. Collins	11.50	675.00	7,762.50
Michael W. Romanczuk	0.40	280.00	112.00
Paul N. Heath	54.90	525.00	28,822.50
Rebecca V. Speaker	0.40	195.00	78.00
Rochelle I. Warren	0.20	90.00	18.00
Russell Silberglied	1.50	600.00	900.00
Tiffany N. Piland	6.20	275.00	1,705.00
Tracy A. Cameron	6.70	195.00	1,306.50
Zachary I. Shapiro	52.80	245.00	12,936.00
TOTAL	314.90	\$310.49	97,773.00

January 27, 2010 Invoice 349252 Page 72

Client # 707765

Payment may be made by wire transfer to our account at Wilmington Trust Company, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 031100092. Please indicate on wire transfer the invoice number stated above.

Photocopying and printing are charged at \$0.10 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

707765

Exhibit B



Tax I.D. No.: 51-0226371

January 27, 2010 Invoice 349252

Page 1

Client # 707765 Matter # 167839

For disbursements incurred through December 31, 2009 relating to Advanta - Restructuring Advice

OTHER CHARGES:

Binding	\$40.00
Business Meals	\$1,013.83
Court Reporter Services	\$178.25
Document Retrieval	\$49.84
Filing Fees	\$4,156.00
Lexis/Westlaw	\$3,102.00
Long distance telephone charges	\$357.01
Messenger and delivery service	\$90.57
Outside Services- Photocopies	\$1,176.96
Overtime	\$697.48
Photocopying/Printing	\$896.20
6,251 @ \$.10 pg. / 2,711 @ \$.10 pg.	

Other Charges

\$11,758.14

January 27, 2010 Invoice 349252 Page 2 Client # 707765

Matter # 167839

TOTAL DUE FOR THIS INVOICE

\$11,758.14

TOTAL DUE FOR THIS MATTER

\$11,758.14

January 27, 2010 Invoice 349252 Page 73 Client # 707765

Client: Advanta Corp.

Matter: Advanta - Restructuring Advice

Case Administration Creditor Inquiries

Meetings

Executory Contracts/Unexpired Leases Automatic Stay/Adequate Protection

Use, Sale of Assets Claims Administration

Court Hearings

General Corporate/Real Estate

Schedules/SOFA/U.S. Trustee Reports

Employee Issues

Tax Issues

Litigation/Adversary Proceedings

RLF Retention

Retention of Others

RLF Fee Applications

Fee Applications of Others

Utilities Insurance

Date	Description			Summary Phrase	
11/09/09	PARCELS, INC.: In Litigation Black and			OUTSIDE	
		Amount =	\$1,176.96		
11/09/09	BINDING			BIND	
		Amount =	\$30.00		
11/09/09	Photocopies			DUP	
		Amount =	\$0.60		
11/09/09	Photocopies			DUP	
		Amount =	\$0.30		

Jay A. Dubor, Esq.	January 27, 2010
Vice President, General Counsel and Chief Administrative Officer	Invoice 349252
Advanta Corp.	Page 74
Welsh and McKean Roads	Client # 707765
P.O. Box 844	Chem # 707703
Spring House PA 19477-0844	

11/09/09	2123108924 Long Distance		LD
11/09/09	Messenger and delivery11 FRIDAYS, CIJ	Amount = \$47.26 /8/09, FROM TGI	MEALSCL
11/09/09	Printing	Amount = \$121.57	DUP
11/09/09	Printing	Amount = \$1.80	DUP
11/09/09	Printing	Amount = \$2.30	DUP
11/09/09	Printing	Amount = \$1.80	DUP
11/09/09	Printing	Amount = \$2.00 Amount = \$1.80	DUP
11/09/09	Printing	Amount = \$1.80	DUP
11/09/09	Printing	Amount = \$0.10	DUP
11/09/09	Printing	Amount = \$0.10	DUP
11/09/09	Printing	Amount = \$0.10	DUP
11/09/09	Printing	Amount = \$0.10	DUP
11/09/09	Printing	Amount = \$0.10	DUP
11/10/09	ANTONIO'S WORD PROTranscript of 11/10/09	OCESSING, INC.: Amount = \$132.25	CTRPT
11/10/09	RODNEY GRILLE:	Amount = \$117.00	MEALSCL
11/10/09	Photocopies	Amount = \$81.00	DUP
11/10/09	Photocopies	Amount = \$5.00	DUP

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 75
Welsh and McKean Roads	Client # 707765
P.O. Box 844	
Spring House PA 19477-0844	

11/10/09	Photocopies			DUP
		Amount =	\$16.00	DID
11/10/09	Photocopies	Amount =	\$6.00	DUP
11/10/00	Photocopies	Amount –	φυ.υυ	DUP
11/10/09	riiotocopies	Amount =	\$10.00	
11/10/09	6314706827 Long Distance		•	LD
		Amount =	\$2.78	
11/10/09	6314706827 Long Distan	ce		LD
		Amount =	\$1.39	* **
11/10/09	2123108489 Long Distan		#1.00	LD
	0154145000 T D'	Amount =	\$1.39	LD
11/10/09	2154445333 Long Distan	ce Amount =	\$20.85	LD
11/10/09	2154445172 Long Distan		Ψ20.03	LD
11/10/09	2154445172 Bong Brotan	Amount =	\$22.24	
11/10/09	DELIVERY EXPENSE 1	1/9/09		MESS
		Amount =	\$7.70	
11/10/09	SECRETARIAL OT THI			OT
		Amount =	\$626.94	DOCULTUI
11/10/09	ALL PACER		# * * * * * * * * * *	DOCRETRI
		Amount =	\$5.28	DUP
11/10/09	Printing	Amount =	\$2.70	DOP
11/10/09	Printing	Amount -	Φ2.70	DUP
11/10/09	Timmg	Amount =	\$0.10	
11/10/09	Printing			DUP
	U	Amount =	\$0.10	
11/10/09	Printing			DUP
		Amount =	\$2.60	*** * TT
11/10/09	Printing	44	Φ1 ΛΛ	DUP
11/10/00	Printing	Amount =	\$1.00	DUP
11/10/09	riming	Amount =	\$1.00	201
11/10/09	Printing			DUP
	Ç	Amount =	\$0.10	

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 76
Welsh and McKean Roads P.O. Box 844	Client # 707765
Spring House PA 19477-0844	

Printing		#1 00	DUP
Printing			DUP
Printing	Amount =	\$0.10	DUP
Printing	Amount =	\$0.10	DUP
_	Amount =	\$0.10	DUP
-	Amount =	\$0.10	DUP
-	Amount =	\$1.10	
Printing	Amount =	\$0.10	DUP
Printing	Amount =	\$1.00	DUP
Printing	Amount =	\$0.10	DUP
Printing			DUP
Printing			DUP
Printing			DUP
Printing	Amount =	\$0.10	DUP
Printing	Amount =	\$0.10	DUP
-	Amount =	\$6.00	DUP
· ·	Amount =	\$1.60	DUP
<u> </u>	Amount =	\$1.50	
Printing	Amount =	\$0.10	DUP
Printing	Amount =	\$1.60	DUP
	Printing	Printing Amount = Printing Amount =	Printing Amount = \$1.00 Printing Amount = \$0.10 Printing Amount = \$0.10 Printing Amount = \$0.10 Printing Amount = \$0.10 Printing Amount = \$1.10 Printing Amount = \$1.00 Printing Amount = \$1.00 Printing Amount = \$1.00 Printing Amount = \$0.10 Printing Amount = \$1.60 Printing Amount = \$1.50 Printing Amount = \$1.50 Printing Amount = \$1.50

Jay A. Dubor, Esq. Vice President, Ge Advanta Corp. Welsh and McKea P.O. Box 844 Spring House PA	eneral Counsel and Chief Administrative Officer un Roads	January 27, 2010 Invoice 349252 Page 77 Client # 707765
11/10/09	Printing Amount = \$1.00	DUP
11/10/09	Printing	DUP
11/10/09	Amount = \$0.10 Printing	DUP
11/10/09	Amount = \$0.10 Printing	DUP
11/10/09	Amount = \$0.10 Printing	DUP
11/10/09	Amount = \$1.60 Printing	DUP
11/10/09	Amount = \$0.30 Printing	DUP
	Amount = \$1.00 Printing	DUP
11/10/09	Amount = \$0.10	LD
11/11/09	2159901587 Long Distance Amount = \$12.51	
11/11/09	Messenger and delivery11/10/09, FROM BANKRUPTCY COURT, CIJ	MESS
11/11/09	Amount = \$10.50 Messenger and delivery11/10/09, BANKRUPTCY COURT, CIJ	MESS
11/11/09	Amount = \$20.50 Printing	DUP
11/11/09	Amount = \$0.10 Printing	DUP
11/12/09	Amount = \$1.60 Photocopies	DUP
11/12/09	Amount = \$0.60 2123108236 Long Distance	LD
11/13/09	Amount = \$6.95 2123108004 Long Distance	LD
11/13/09	Amount = \$4.17 2123108489 Long Distance	LD

Amount = \$4.17

Jay A. Dubor, Esq. Vice President, General Cou Advanta Corp. Welsh and McKean Roads P.O. Box 844 Spring House PA 19477-08		ive Officer		January 27, 2010 Invoice 349252 Page 78 Client # 707765
11/13/09	2123108489 Long Distance	ee Amount =	¢1 30	LD
11/13/09	2123108489 Long Distance	ce		LD
11/13/09	ALL PACER	Amount =		DOCRETRI
11/13/09	Printing	Amount =	\$0.32	DUP
11/13/09	Printing	Amount =	\$1.00	DUP
11/13/09	Printing	Amount =	\$1.20	DUP
11/13/09	Printing	Amount =	\$1.50	DUP
11/13/09	Printing	Amount =	\$1.50	DUP
	-	Amount =	\$2.20	DUP
11/15/09	Printing	Amount =	\$0.10	
11/16/09	6314706827 Long Distance	ce Amount =	\$1.39	LD
11/16/09	ALL PACER	Amount =	\$1.12	DOCRETRI
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =		DUP
11/16/09	Printing	Amount =		DUP
11/16/09	Printing			DUP
11/16/09	Printing	Amount =		DUP
		Amount =	Φ1.00	DIID

DUP

Amount = \$2.10

Printing

11/16/09

Jay A. Dubor, Esq.	January 27, 2010
Vice President, General Counsel and Chief Administrative Officer	Invoice 349252
Advanta Corp.	Page 79
Welsh and McKean Roads	01: 4 # 707766
P.O. Box 844	Client # 707765
Spring House PA 19477-0844	

.

11/16/09	Printing	A A	ድጋ ለለ	DUP
11/16/09	Printing	Amount =		DUP
11/16/09	Printing	Amount =	·	DUP
11/16/09	Printing	Amount =		DUP
11/16/09	Printing	Amount =		DUP
11/16/09	Printing	Amount =	·	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$1.20	DUP
11/16/09	Printing	Amount =	\$2.00	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$0.10	DUP
11/16/09	Printing	Amount =	\$2.30	DUP
11/16/09	Printing	Amount =	\$1.00	DUP
11/16/09	Printing	Amount =	\$3.60	DUP
11/17/09	6103489615 Long Distar	Amount =	\$1.00	LD
11/17/09	2123108729 Long Distar	Amount =	\$4.17	LD
		Amount =	\$4.17	-

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 80
Welsh and McKean Roads	Client # 707765
P.O. Box 844	Cheffi # 707703
Spring House PA 19477-0844	

11/17/09	ALL PACER		DOCRETRI
		Amount = \$0.80	
11/17/09	Printing		DUP
		Amount = \$0.10	T T T T T T T T T T T T T T T T T T T
11/17/09	Printing		DUP
1.1.1.7.10.0	D. C.	Amount = \$3.40	DUP
11/17/09	Printing	Amount = \$3.40	DOI
11/18/09	GALLUCIO'S CAFE: Fo		MEALSCL
11/10/09	GALLOCIO 5 C/ II D. 10	Amount = \$27.62	
11/18/09	Photocopies		DUP
	*	Amount = \$16.40	
11/18/09	2127631897 Long Distar	nce	LD
		Amount = \$16.68	
11/18/09	Messenger and deliveryl	1/17/09, Bankruptcy	MESS
	Court, CXG	Amount = \$4.50	
11/18/09	ALL PACER	Amount - \$4.50	DOCRETRI
11/10/09	ALLIACER	Amount = \$1.20	
11/18/09	Printing	miount \$1.20	DUP
11/10/05	1 11111111	Amount = \$0.10	
11/18/09	Printing		DUP
		Amount = \$1.00	
11/18/09	Printing		DUP
		Amount = \$2.20	*** * TT*
11/18/09	Printing	A	DUP
11/10/00	Duinting	Amount = \$2.20	DUP
11/18/09	Printing	Amount = \$6.00	DOI
11/18/09	Printing	1 miount \$0.00	DUP
11/10/07	1 11111112	Amount = \$2.20	
11/18/09	Printing		DUP
		Amount = \$0.10	
11/18/09	Printing		DUP
		Amount = \$3.90	TO LITE
11/18/09	Printing	A	DUP
		Amount = \$0.10	

Jay A. Dubor, Esq. Vice President, General Cor Advanta Corp. Welsh and McKean Roads P.O. Box 844 Spring House PA 19477-08		tive Officer		January 27, 2010 Invoice 349252 Page 81 Client # 707765
11/18/09	Printing	A	#O 10	DUP
11/18/09	Printing	Amount =		DUP
11/18/09	Printing	Amount =	\$0.30	DUP
11/18/09	Printing	Amount =	\$0.10	DUP
	-	Amount =	\$0.20	DUP
11/18/09	Printing	Amount =	\$3.60	
11/18/09	Printing	Amount =	\$1.00	DUP
11/18/09	Printing	Amount =	\$0.10	DUP
11/18/09	Printing	Amount =	\$0.10	DUP
11/18/09	Printing	Amount =	\$0.20	DUP
11/18/09	Printing			DUP
11/18/09	Printing	Amount =		DUP
11/18/09	Printing	Amount =	\$0.30	DUP
11/18/09	Printing	Amount =	\$0.10	DUP
11/19/09	MANHATTAN BAGEL		: Invoice	MEALSCL
	8978/Breakfast for 8 on 1	1/19/09/1678 Amount =		
11/19/09	RODNEY GRILLE: Food	d service Amount =	\$410.00	MEALSCL
11/19/09	Photocopies	Amount =	\$37.60	DUP
11/19/09	2129061372 Long Distan	ice		LD
11/19/09	2127159143 Long Distan	Amount =	\$11.12	LD

Amount = \$12.51

Jay A. Dubor, Esq. Vice President, General Advanta Corp. Welsh and McKean Re P.O. Box 844 Spring House PA 194		nistrative Officer	January 27, 2010 Invoice 349252 Page 82 Client # 707765
11/19/09	6314706827 Long D	istance Amount = \$4.17	LD
11/19/09	2123108489 Long D		LD
11/20/09	AMERICAN EXPR 3782-938224-xxxxx	ESS: acct /Bankruptcy filing fee	FLFEE
11/20/09	Binding 11/13-11/19	Amount = $\$4,156.0$ Amount = $\$4.00$	BIND
11/20/09	Photocopies	Amount = \$34.20	DUP
11/20/09	Photocopies	Amount = \$24.20	DUP
11/20/09	6314706827 Long D		LD
11/20/09	ALL PACER		DOCRETRI
11/20/09	Printing	Amount = \$1.68	DUP
11/20/09	Printing	Amount = \$9.30	DUP
11/20/09	Printing	Amount = \$9.30	DUP
11/20/09	Printing	Amount = \$9.30	DUP
11/20/09	Printing	Amount = \$9.30	DUP
11/20/09	Printing	Amount = \$0.10	DUP
11/20/09	Printing	Amount = \$0.10	DUP
		Amount = \$0.10	DID

Photocopies

Photocopies

Photocopies

11/23/09

11/23/09

11/23/09

DUP

DUP

DUP

Amount = \$17.40

Amount = \$157.90

Amount = \$70.80

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 83
Welsh and McKean Roads P.O. Box 844 Spring House PA 19477-0844	Client # 707765

11/23/09	Photocopies	Amount = \$6.00	DUP
11/23/09	Photocopies		DUP
11/23/09	Photocopies	Amount = \$34.50	DUP
11/23/09	Photocopies	Amount = \$10.90	DUP
11/23/09	ALL PACER	Amount = \$0.70	DOCRETRI
11/23/09	Printing	Amount = \$1.92	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
	-	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.20	
11/23/09	Printing	Amount = \$0.20	DUP
11/23/09	Printing	Amount = \$0.30	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 84
Welsh and McKean Roads P.O. Box 844	Client # 707765
Spring House PA 19477-0844	
	TO I ID

11/23/09	Printing		DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$0.10	DUP
11/23/09	Printing	Amount = \$2.10	DUP
11/24/09	ANTONIO'S WORD PR	Amount = \$3.80 OCESSING, INC.:	CTRPT
11/2-0009	Transcript of 11/24/09/16		
11/24/09	RODNEY GRILLE:	Amount = \$74.65	MEALSCL
11/24/09	Delivery Expense 11/23/	09	MESS
11/24/09	ALL PACER	Amount = \$3.20	DOCRETRI
11/24/09	Printing	Amount = \$1.84	DUP
11/24/09	Printing	Amount = \$4.50	DUP
11/24/09	Printing	Amount = \$1.20	DUP
11/24/09	Printing	Amount = \$3.00	DUP
	<u>-</u>	Amount = \$0.10	DUP
11/24/09	Printing	Amount = \$1.80	
11/25/09	Photocopies	Amount = \$3.90	DUP
11/25/09	Delivery expense 11/24/	09 Amount = \$6.40	MESS
11/25/09	SECRETARIAL OT TH	IRU 11/30/09 Amount = \$70.54	ОТ
11/25/09	Printing	Amount = \$3.70	DUP
11/25/09	Printing	Amount = \$3.80	DUP

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 85
Welsh and McKean Roads	Client # 707765
P.O. Box 844	Chem ii 707700
Spring House PA 19477-0844	

11/25/09	Printing		DUP
11/25/09	Printing	Amount = \$2.80	DUP
11/25/00	Drinting	Amount = \$20.70	DUP
11/25/09	Printing	Amount = \$9.60	
11/25/09	Printing	Amount = \$2.50	DUP
11/30/09	Binding 11/20-11/30	Amount = \$6.00	BIND
11/30/09	Messenger and delivery1		MESS
11/30/09	ALL PACER	Amount = \$4.50	DOCRETRI
11/30/09	ALLIACLK	Amount = \$6.40	
12/01/09	Photocopies	Amount = \$0.50	DUP
12/01/09	2127354935 Long Distan		LD
12/01/09	6108361862 Long Distan	ice	LD
12/01/09	ALL PACER	Amount = \$5.56	DOCRETRI
12/01/09	Printing	Amount = \$1.52	DUP
	-	Amount = \$0.20	
12/01/09	Printing	Amount = \$0.10	DUP
12/01/09	Printing	Amount = \$0.10	DUP
12/01/09	Printing		DUP
12/01/09	Printing	Amount = \$0.10	DUP
12/01/09	Printing	Amount = \$0.10	DUP
	· ·	Amount = \$0.10	DUP
12/01/09	Printing	Amount = \$0.10	ĐOI

Jay A. Dubor, Esq.	January 27, 2010
Vice President, General Counsel and Chief Administrative Officer	Invoice 349252
Advanta Corp.	Page 86
Welsh and McKean Roads	CV:
P.O. Box 844	Client # 707765
Spring House PA 19477-0844	

12/01/09	Printing	Amount =	ድስ 10	DUP
12/01/09	Printing			DUP
12/01/09	Printing	Amount =		DUP
12/02/09	GALLUCIO'S CAFE:	Amount =		MEALSCL
12/02/09	Photocopies	Amount =		DUP
12/02/09	Delivery Expense 12/1/09	Amount =	\$1.80	MESS
12/02/09	ALL PACER	Amount =	\$3.20	DOCRETRI
12/02/09	Printing	Amount =	\$4.40	DUP
12/02/09	Printing	Amount =	\$0.10	DUP
12/02/09	Printing	Amount =	\$0.10	DUP
12/02/09	Printing	Amount =	\$0.10	DUP
12/02/09	Printing	Amount =	\$0.10	DUP
	•	Amount =	\$0.20	DUP
12/02/09	Printing	Amount =	\$0.10	
12/02/09	Printing	Amount =	\$0.10	DUP
12/02/09	Printing	Amount =	\$0.20	DUP
12/02/09	Printing	Amount =	\$1.10	DUP
12/02/09	Printing	Amount =	\$1.30	DUP
12/02/09	Printing	Amount =	\$1.30	DUP

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 87
Welsh and McKean Roads	Client # 707765
P.O. Box 844 Spring House PA 19477-0844	

12/02/09	Printing			DUP
12/02/09	Printing	Amount =	\$1.20	DUP
12/03/09	Photocopies	Amount =	\$0.70	DUP
	-	Amount =	\$1.10	DUP
12/03/09	Photocopies	Amount =	\$1.10	
12/03/09	Photocopies	Amount =	\$3.50	DUP
12/03/09	Photocopies	Amount =	\$11.40	DUP
12/03/09	2123108489 Long Distance			LD
12/03/09	2123108489 Long Distant	ce		LD.
12/03/09	Messenger and delivery12 Court, CIJ	Amount = 2/2/09, Bankı		MESS
12/03/09	ALL PACER	Amount =	\$4.50	DOCRETRI
12/03/09	Printing	Amount =	\$7.44	DUP
12/03/09	Printing	Amount =	\$1.00	DUP
	-	Amount =	\$1.00	DUP
12/03/09	Printing	Amount =	\$1.10	
12/03/09	Printing	Amount =	\$1.00	DUP
12/03/09	Printing	Amount =	\$1.00	DUP
12/03/09	Printing	Amount =	\$1.00	DUP
12/03/09	Printing	Amount =	·	DUP
12/03/09	Printing			DUP
		Amount =	\$1.ZU	

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp. Welsh and McKean Roads	Page 88
P.O. Box 844 Spring House PA 19477-0844	Client # 707765

12/04/09	2123108489 Long Distance	LD
12/04/09	Amount = \$4.17 Messenger and delivery 12/03/09 - LOCAL DELIVERY - CIJ/JZS	MESS
12/04/09	Amount = \$3.20 Messenger and delivery 12/03/09 - TO BANKRUPTCY COURT - CIJ	MESS
12/07/09	Amount = \$4.50 ALL PACER	DOCRETRI
12/07/09	Amount = \$1.04 Printing	DUP
	Amount = \$0.10	
12/07/09	Printing Amount = \$0.10	DUP
12/07/09	Printing Amount = \$0.10	DUP
12/07/09	Printing Amount = \$0.10	DUP
12/08/09	Conference calls for November 2009 Long Distance	LD
12/09/09	Amount = \$55.38 2123108004 Long Distance	LD
12/09/09	Amount = \$6.95 ALL PACER	DOCRETRI
	Amount = \$1.20	DUP
12/09/09	Printing Amount = \$1.30	
12/09/09	Printing Amount = \$6.10	DUP
12/10/09	ALL PACER Amount = \$0.08	DOCRETRI
12/15/09	ALL PACER Amount = \$0.16	DOCRETRI
12/16/09	2123108078 Long Distance Amount = \$25.02	LD
12/16/09	9095851062 Long Distance Amount = \$6.95	LD
	Autount 40.75	

Jay A. Dubor, Esq. Vice President, General Counsel and Chief Administrative Officer	January 27, 2010 Invoice 349252
Advanta Corp.	Page 89
Welsh and McKean Roads P.O. Box 844	Client # 707765
Spring House PA 19477-0844	

12/16/09	Printing	A #1 10	DUP
12/17/09	RODNEY GRILLE:	Amount = \$1.10	MEALSCL
12/17/09	MANHATTAN BAGEL 9157/Lunch for 6 on 12/1		MEALSCL
10/17/00		Amount = \$100.00	DUP
12/17/09	Photocopies	Amount = \$50.50	
12/17/09	Photocopies	Amount = \$21.00	DUP
12/17/09	2123108078 Long Distan	ce Amount = \$1.39	LD
12/17/09	ALL PACER		DOCRETRI
12/17/09	Printing	Amount = \$1.44	DUP
12/17/09	Printing	Amount = \$0.10	DUP
	· ·	Amount = \$13.50	DUP
12/17/09	Printing	Amount = \$0.10	
12/17/09	Printing	Amount = \$3.00	DUP
12/17/09	Printing	Amount = \$6.30	DUP
12/17/09	Printing		DUP
12/17/09	Printing	Amount = \$4.10	DUP
12/17/09	Printing	Amount = \$3.30	DUP
	2123108004 Long Distar	Amount = \$1.00	LD
12/18/09	·	Amount = \$1.39	
12/18/09	2123108078 Long Distar	Amount = \$19.46	LD
12/18/09	2123108078 Long Distar	nce Amount = \$2.78	LD

Jay A. Dubor, Esq.	January 27, 2010
Vice President, General Counsel and Chief Administrative Officer	Invoice 349252
Advanta Corp.	Page 90
Welsh and McKean Roads	01: 4 # 707765
P.O. Box 844	Client # 707765
Spring House PA 19477-0844	

12/18/09	Printing		60.10	DUP
12/18/09	Printing	Amount =		DUP
12/18/09	Printing	Amount =	\$0.10	DUP
12/21/09	THE GARDEN CITY GR	Amount = OUP INC -	\$0.10	MESS
	Messenger and delivery	Amount =	\$10.17	
12/21/09	Photocopies	Amount =	\$0.20	DUP
12/21/09	Westlaw	Amount =	\$3,102.00	LEXIS
12/22/09	2123108078 Long Distance		ŕ	LD
12/22/09	ALL PACER			DOCRETRI
12/22/09	Printing	Amount =		DUP
12/23/09	ALL PACER	Amount =	\$1.00	DOCRETRI
12/23/09	Printing	Amount =	\$2.32	DUP
12/29/09	ALL PACER	Amount =	\$1.30	DOCRETRI
		Amount =	\$2.00	word the se
12/29/09	Printing	Amount =	\$2.20	DUP
12/29/09	Printing	Amount =	\$2.10	DUP
12/29/09	Printing	Amount =	\$2.30	DUP
12/31/09	Delivery expense 12/30/0	9 Amount =	\$7.70	MESS

Expenses \$11,758.14

January 27, 2010 Invoice 349252

Page 91

Client # 707765